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Question Id : 87827041209 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of employees working in five different colleges A-E, alongwith
the ratio of Males to Females [M : F] among them. Based on the data in the table, answer the
questions that follow.

College-wise Details of Employees

College | Number of Employees| Ratio
M:F

A 3040 13:6

B 3360 4:3

C 2920 9:11

D 2760 10:13

E 2840 137

Sub questions

Question Number : 1 Question Id : 87827041210 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

What is the total number of male employees taking all the Colleges together ?

(1) 8120
(2) 8240
(3) 8360
(4) 8560
Options :

878270161841. 1
878270161842. 2
878270161843. 3

878270161844. 4

Question Number : 2 Question Id : 87827041211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the average number of female employees taking all the colleges together ?

(1) 1312
2) 1372
(3) 1336
(4) 1292
Options :

878270161845. 1
878270161846. 2
878270161847. 3

878270161848. 4

Question Number : 3 Question Id : 87827041212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The number of male employees wotking in Colleges A and C together is approximately %
more than the number of female employees working in colleges B and D together.

(1) 9

(2) 15

(3) 11

4) 13

Options :
878270161849. 1
878270161850. 2
878270161851. 3

878270161852. 4

Question Number : 4 Question Id : 87827041213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of female employees working in College D to that in College E ?

(1) 7:4
(2) 780 : 497
(3) 390 : 491
(4) 9:5
Options :

878270161853. 1
878270161854. 2
878270161855. 3

878270161856. 4

Question Number : 5 Question Id : 87827041214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The number of employees working in College C is approximately % more than that in

College D.
() 8

(2) 6
3 4
(4 10
Options:

878270161857. 1
878270161858. 2
878270161859. 3
878270161860. 4

Question Id : 87827041209 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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A 3040 13:6
B 3360 1:3
C 2920 0:11
D 2760 10:13
P 2840 13:7

Sub questions

Question Number : 1 Question Id : 87827041210 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

guft weifa=ned o1 fiemert g5y FH=ial 1 o g fhaf ©2

(1) 8120
(2) 8240
(3) 8360
(4) 8560

Options :

878270161841. 1
878270161842. 2
878270161843. 3

878270161844. 4

Question Number : 2 Question Id : 87827041211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt Helferarerdi i U 91 foere Aieen SHEEl 1 i Sem = e ?

(1) 1312
(2) 1372
(3) 1336
(4) 1292

Options:

878270161845. 1
878270161846. 2
878270161847. 3

878270161848. 4

Question Number : 3 Question Id : 87827041212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270161849. 1
878270161850. 2
878270161851. 3

878270161852. 4

Question Number : 4 Question Id : 87827041213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1) 7:4

(2) 780 : 497
(3) 390 : 491
4 9:5
Options :

878270161853. 1
878270161854. 2
878270161855. 3

878270161856. 4

Question Number : 5 Question Id : 87827041214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270161857. 1
878270161858. 2
878270161859, 3

878270161860. 4

Sub-Section Number : 2
Sub-Section Id : 8782701726
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827041215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An economics teacher wants to create an infographics to explajn supply and demand to her students.
Which of the fo]lowing tools would be most suitable ?

(I) Edpuzzle

(2) Canva

(3) Quizlet

(4) Mindmeister
Options :
878270161861. 1
878270161862. 2
878270161863. 3

878270161864. 4



Question Number : 6 Question Id : 87827041215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270161861. 1
878270161862. 2
878270161863. 3

878270161864. 4

Question Number : 7 Question Id : 87827041216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Norm referencing is used to interpret a score of an individual by comparing it
with those of other individuals.

Statement I :  Criterion referencing is used to interpret a person’s performance by comparing it
to some specified behavioural domain.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(

4) Statement I is incorrect but Statement II is correct

Options :



878270161865. 1
878270161866. 2
878270161867. 3

878270161868. 4

Question Number : 7 Question Id : 87827041216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161865. 1

878270161866. 2

878270161867. 3

878270161868. 4

Question Number : 8 Question Id : 87827041217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the elements of observational learning ?
(A) Production

(B) Attention

(C) Identification

(D) Retention

(E) Motivation

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2) (A)and (E) Only

(3) (A), (B), (D) and (E) Only
(4) (C) Only

Options :

878270161869. 1
878270161870. 2
878270161871. 3
878270161872. 4

Question Number : 8 Question Id : 87827041217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161869. 1
878270161870. 2
878270161871. 3

878270161872. 4

Question Number : 9 Question Id : 87827041218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In "VARK' model of learni_ng st}fles, ‘A" stands for

(I) Auspicious
(2) Augmentary
(3) Authentic
(4) Aural
Options :

878270161873. 1
878270161874. 2

878270161875. 3



878270161876. 4

Question Number : 9 Question Id : 87827041218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161873. 1
878270161874. 2
878270161875. 3

878270161876. 4

Question Number : 10 Question Id : 87827041219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When a very bright light is incident on our eyes, we immediately close our eyelids.
This is an example of

(1)  Biological instincts

¥

(2)  Reflex actions
(3) Desired instincts
(4)

Intrapersonal instincts
Options :

878270161877. 1
878270161878. 2

878270161879. 3



878270161880. 4

Question Number : 10 Question Id : 87827041219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270161877. 1
878270161878. 2
878270161879. 3

878270161880. 4

Question Number : 11 Question Id : 87827041220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

[dentify the disadvantages of open ended questions in survey research.
(A) The questions do not suggest certain kinds of answer to respondents.
(B) They are time consuming for interviewers to administer.

(C) They require greater effort from respondents.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (4), (B) and (C)

Options :



878270161881. 1
878270161882. 2
878270161883. 3

878270161884. 4

Question Number : 11 Question Id : 87827041220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161881. 1
878270161882. 2
878270161883. 3

878270161884. 4

Question Number : 12 Question Id : 87827041221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In a reference written in APA style, arrange the information pertaining to the reference in correct
order.

(A) DOI number

(B) Volume number

(C) Name of author

(D) Title of the article

Choose the correct answer from the options given below :
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(

Options:

878270161885. 1
878270161886. 2
878270161887. 3

878270161888. 4

Question Number : 12 Question Id : 87827041221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270161885. 1
878270161886. 2
878270161887. 3

878270161888. 4

Question Number : 13 Question Id : 87827041222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A research study is said to have heuristic value if :
(1) It leads to no further research

(2) It generates more research
(3) Its results lack consistency
(4)  Its results lack validity

Options :

878270161889. 1
878270161890. 2
878270161891. 3

878270161892. 4

Question Number : 13 Question Id : 87827041222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270161890. 2
878270161891. 3

878270161892. 4

Question Number : 14 Question Id : 87827041223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An entrance examination with objective type questions is conducted. For each correct answer, 1
mark is awarded and for each incorrect answer .25 marks are deducted. The number of marks
scored by candidates who appeared in the examination, is an example of :

(1) nominal variable

(2)  discrete variable

(3) ordinal variable

(4)  continuous variable

Options :

878270161893. 1

878270161894. 2

878270161895. 3

878270161896. 4

Question Number : 14 Question Id : 87827041223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270161893. 1
878270161894. 2
878270161895. 3
878270161896. 4

Question Number : 15 Question Id : 87827041224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ;  Medical research usua]ly involves pain or distress in animals.

Statement I1:  Psychological research is usually benign and may mvolve little, if any, discomfort
for the animals.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270161897. 1

878270161898. 2

878270161899. 3

878270161900. 4

Question Number : 15 Question Id : 87827041224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270161897. 1

878270161898. 2

878270161899. 3

878270161900. 4

Question Number : 16 Question Id : 87827041225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A photograph constitutes a/an :

(1

) Protective text
(2) Refined text
(3) Closed text
(4) Open text
Options :
878270161901. 1
878270161902. 2
878270161903. 3

878270161904. 4

Question Number : 16 Question Id : 87827041225 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161901. 1
878270161902. 2
878270161903. 3

878270161904. 4

Question Number : 17 Question Id : 87827041226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Buddhist concept of communication is marked by :
(1) Mono-causality

(2) Dyadic causality

(3) Multi-causality

(4) Skewed causality

Options:

878270161905. 1

878270161906. 2

878270161907. 3

878270161908. 4

Question Number : 17 Question Id : 87827041226 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270161905. 1
878270161906. 2
878270161907. 3

878270161908. 4

Question Number : 18 Question Id : 87827041227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

At present, cyber communication is a :
(1) Fictitious reality

(2) Palpable reality

(3) Futuristic reality

(4) Conventional reality
Options :

878270161909. 1
878270161910. 2
878270161911. 3

878270161912. 4

Question Number : 18 Question Id : 87827041227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270161909. 1
878270161910. 2
878270161911. 3

878270161912. 4

Question Number : 19 Question Id : 87827041228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main objectives of public policy sphere communication is to involve citizens in :
(A) Idea generation

(B) Policy critique

(C) Innovative policy practices

(D) Ignoring oppositional views

(E)  Promotion of stereotypes

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4)  (A), (D) and (E) Only

Options :

878270161913. 1
878270161914. 2
878270161915. 3

878270161916. 4



Question Number : 19 Question Id : 87827041228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270161913. 1
878270161914. 2
878270161915. 3
878270161916. 4

Question Number : 20 Question Id : 87827041229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  Western communication models examined the relaﬁonship among communicative
elements on an individual basis.

Statement Il ;  The Buddhst concept of communication emphasises the contextualisation of each
of the communicative elements.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement L is false but Statement Il is true
Options:

878270161917. 1

878270161918. 2

878270161919. 3

878270161920. 4

Question Number : 20 Question Id : 87827041229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 @ o ey g

F]: YO SR WEE § SR YR TGS d@l % 6 i & g & |
WL : TR H g IR H Yo WA 7 & Fefie w aw fom @ g

IR e & S W, T4 U T foeredl H § W S o I

1) HORIAR W T

D) AR R 1 3 o £

) @R 1§ ¢, Ol e 1 o €

4) A1 &, Vi RO T &

L]

(
(
(
(
Options :

878270161917. 1

878270161918. 2



878270161919. 3

878270161920. 4

Question Number : 21 Question Id : 87827041230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A man, a woman and a boy can do a piece of work in 6, 9 and 18 days, respectively. How many
boys should assist one man and one woman to do the work in one day ?

(1) 13
2 1

3 11

4) 10
Options :
878270161921. 1
878270161922. 2
878270161923. 3

878270161924. 4

Question Number : 21 Question Id : 87827041230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T %0, T Hfeell N T acrd: foret o 1 90 6, 9 S 16 fed B 0 9 & | T Wfeen 3% @
6 1 7 ) G et ol ot o foru, Foil airehl o1 Smaen o Sfiaveeeel 2 7

(1) 13

2) 15

() 1

(4) 10
Options :
878270161921. 1

878270161922. 2



878270161923. 3

878270161924. 4

Question Number : 22 Question Id : 87827041231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A family consists of 6 members namely A, B, C, D, Eand F. B is the brother-in-law of C's mother.
Cis the father of F. Dis the father of Xandf is the grandson of D. There are two female members
in the family. Which of the following pairs represent the female members in the family ?

Aand D

Options :

878270161925. 1
878270161926. 2
878270161927.3

878270161928. 4

Question Number : 22 Question Id : 87827041231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A,B,C,D,E #IF 719% 98 9@ W WeR § &1 B,CH AT AL el CFafmel D, A
TARE, DF A &1 ofEm § < wfee €| Freifefen # 4 91 91 9w ofEn § afeen wew 9 i
g’

() AZRD
() DHRE
(3) A3RE
(4) BERC

Options :



878270161925. 1
878270161926. 2
878270161927. 3

878270161928. 4

Question Number : 23 Question Id : 87827041232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
15,5108 18,275,489, %, .

(1) 48.5
(2} 2258
(3) 625
(4) 725
Options :

878270161929. 1
878270161930. 2
878270161931. 3

878270161932. 4

Question Number : 23 Question Id : 87827041232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T T T Ffe S A & gEen § wwaras: fag i ufrenf 9w gee
15,5, 105, 18, 275,39, 2. .,

(1) 485
(2) 525
(3) 625
4) 725



878270161929. 1
878270161930. 2
878270161931. 3

878270161932. 4

Question Number : 24 Question Id : 87827041233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child is looking for his father. He goes 100 meter towards east and then turns to his right and
goes 30 meters. From there the child again turns to his right and goes for 40 meters. Where he
finds his father at his uncle’s place. How far is his uncle’s place from the starting point of the
child ?

(1) 3045 meter
(2) 40 meter

(3) 4045 meter
(4) 30410 meter
Options :
878270161933. 1
878270161934. 2
878270161935. 3

878270161936. 4

Question Number : 24 Question Id : 87827041233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e ] 319 iR A 4% T €1 9 T A SR 100 R S € S R e aife g o € e 30 e
W8 | T T A St T & e 40 F S €, W) o oA ST o R R A o o o
¢ T % o s 3 39 9 A R R @ e

(1) 305 e

(2) 40"

B) 405 T

C T

Options:

878270161933. 1
878270161934. 2
878270161935. 3
878270161936. 4

Question Number : 25 Question Id : 87827041234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :

(a) 1000 ie. 10° is coded as 1331

(b) 125i.e.5%is coded as 216

How 729 will be coded in that language ?

(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270161937. 1
878270161938. 2
878270161939. 3
878270161940. 4



Question Number : 25 Question Id : 87827041234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
gfe fordl e W o :
(a) 1000 21T 10° &1 1331 % ®9 H FHfeq fomam 701 ©
(b) 125 1eifd 5° F1 216 F &9 H Ffeq foFan 7 €

dl 39 9T H 729 k1 Y Hied fopan smam ?
(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270161937. 1
878270161938. 2
878270161939. 3

878270161940. 4

Question Number : 26 Question Id : 87827041235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are contradictory to each other ?
(A) All plants are fungi

(B) No plants are fungi

(C) Some plants are not fungi

(D) Some plants are fungi

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A)and (B) Only
(3) (C) and (D) Only
(4) (A) and (D) Only

Options :



878270161941. 1
878270161942. 2
878270161943. 3

878270161944. 4

Question Number : 26 Question Id : 87827041235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frfafea o #9-9 %97 TF TH S AT © 2
(A) T WY FF T |
(B) HIZ UreN FHeleh e o
(C) Fo W Tk el ¢
(D) F® Y FIF ¢ |
= fou 7o fowedi § 9 W& SO 1 999 Hife
(1) = (B) 3R (D)

(2) FaA (A) AR (B)
(3) A (C) X (D)
(4) FaA (A) 3R (D)

Options :

878270161941. 1
878270161942. 2
878270161943. 3

878270161944. 4

Question Number : 27 Question Id : 87827041236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[f the statement - “All trucks are po]lul‘ing vehicles” is given as false, then which of the follnwing
statements can be immediately inferred to be true ?

(I) Some trucks are polluting vehicles.

(2) Some trucks are not polluting vehicles.
(3)  No trucks are polluting vehicles.
(.

=y

) No polluting vehicles are trucks.

Options:

878270161945. 1
878270161946. 2
878270161947.3
878270161948. 4

Question Number : 27 Question Id : 87827041236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

o Fem - 9 7% TeuE A €1 e fem e € @ Pt F € dR-A A Y R W
T 1 Wl & 7

(1) %9 7 I e

Q) T3 7% T e T ¢
(3) ot 7 T A I ¢
(4) o U e 2% ) ¢
Options :
878270161945. 1
878270161946. 2
878270161947. 3

878270161948. 4

Question Number : 28 Question Id : 87827041237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent to the statement - “Some philosophers are not
idealists.”?

(I) Some philosophers are not non-idealists.

(2)  No idealists are philosophers.

(3)  Some non-idealists are not philosophers.

(4)  Some non-idealists are not non-philosophers.
Options :

878270161949. 1

878270161950. 2

878270161951. 3

878270161952. 4

Question Number : 28 Question Id : 87827041237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfafea # @1 wua-' o gnifr goger =& €', % 9nqe 87
(1) T SRIHF T-JagamK] T8 © |

) oIS FoIFers e e 8 |

) FS IR-YIFER! aUh 7ol © |

) FO TR-YFerR! IR-gmifE Tl ¢ |

Options :

878270161949. 1

878270161950. 2

878270161951. 3

878270161952. 4

Question Number : 29 Question Id : 87827041238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which fallacy is involved in the following statement “Indian pharmaceutical companies are
p‘ro[itabl& therefore, average Indian pharmaceutical company is pmfitable"?

(I) Fallacy of Division

2

Hasty Generalisation

2
(3)  Slippery Slope
()

4)  Fallacy of Accident

Options :

878270161953. 1
878270161954. 2
878270161955. 3

878270161956. 4

Question Number : 29 Question Id : 87827041238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

vt e & SF- 7 W Tl ¢ - (R s et aven § g o R

T O R

(1) fourem = 7 g
(2) et JHE
(3)  ToHerR Ze

4
Options :
878270161953. 1
878270161954. 2
878270161955. 3

878270161956. 4

Question Number : 30 Question Id : 87827041239 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The Aristotelian syllogism is only inductive and formal.
Statement 11 : N}f:iya sy]logism is deductive - inductive and formal-material.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement 1 is true but Statement II is false
(4)  Statement I is false but Statement II is true
Options :

878270161957. 1

878270161958. 2

878270161959. 3

878270161960. 4

Question Number : 30 Question Id : 87827041239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁ%awfww%:

FAT]: AT F AHAH FId AT AR STHE 2l ¢ |

FOTI: 0 F THAH S - SFHAHS S ST Terefa 2 €
SR HYA & el H, e U T forredl § § R T T FIfC

(1) oA 1R w13 7 &

(2) WU 1 2R w1 S 3 §
(3) HUTITA T, ol T U1 594 @
(4) HUTIHEA T, Al FIAT I TA €
Options :

878270161957. 1



878270161958. 2
878270161959. 3

878270161960. 4

Question Number : 31 Question Id : 87827041240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An advantage to a business that uses Intranet capabilities is that it allows employees to share the
business's information with

(1) Customers.

2

(3)  Competitors
g

Each other.

Former employees,

Options :

878270161961. 1
878270161962. 2
878270161963. 3

878270161964. 4

Question Number : 31 Question Id : 87827041240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

5GP W F1 I ¢, T AT H} AN T ¢ 5 T wAAE A e A g
i o T4 W e 1 Tt e 7 ¢ -

(1) T & 9
) TE-THE M
%) et %
4) T FHAE & Y

Options:

(
(
(



878270161961. 1
878270161962. 2
878270161963. 3

878270161964. 4

Question Number : 32 Question Id : 87827041241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following MS-EXCEL screenshot that shows the product code, name of the state
which produced the product and Quality of the product :

A B C D

1 |ProductCode| State |Quality

2 Al HP A

3 A2 MP A

4 A3 UP A

5 Ad UpP B

b A5 upP B

7

Which of the following EXCEL formulae can be typed in Cell D1 to answer the question : How
many different product codes form UP are of Grade “A” quality ?

A, = COUNTIFS (B2:Be, “=UP", C2:C6,"=A")

B. = COUNTIFS (C2:Co, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP”, C2:C6, “A")

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

(4) (A) (B) and (C)

Options :
878270161965. 1

878270161966. 2



878270161967. 3
878270161968. 4

Question Number : 32 Question Id : 87827041241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

reifeifin Tom e e T R i o S Fe, e T 9 09 9 AW 6 3R
ﬁ‘]ﬂﬂﬂlﬂﬁf?ﬁﬁ%:

A B | C | D
1 | 3R*E | ™ | T

) Al HP | A

3 A2 MP | A

4 A3 WP [ A

5 Ad UP | B

b A UP | B

7

UP e o= 3601 1 “A” I T alel € 7 36 W 91 I <1 it ¥t D1 ¥ i ¥ 9
B 1 TRIE 93 259 f o e 8

A. = COUNTIFS (B2B6, "=UP", C2C6,"=A")

B. = COUNTIFS (C2:C6, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP", C2:C6, “A")

A fou T fosredl @ B Wl SR 1 T Fi

(1) % (A) 3T (B)
Q) @ (A) 3 (C)
() A (B) % (C)
(@) () @) (C)
Options :
878270161965. 1
878270161966. 2

878270161967. 3



878270161968. 4

Question Number : 33 Question Id : 87827041242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  'Disk defragmentation’ makes files that are contiguous in a disk as fragmented.

Statement I1: A device controller that controls a device will deal with the operating system
through device driver.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are true

2)  Both Statement I and Statement I are false

3

4) Statement | is false but Statement Il is true

(
(3) Statement I is true but Statement II is false
(

Options :

878270161969. 1

878270161970. 2

878270161971. 3

878270161972. 4

Question Number : 33 Question Id : 87827041242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%ﬂﬁﬁfﬂw%:

T ‘o femem folt fom  wam weel @) foifen & 2

FOT I g o, i ferel 4fe o e o feamew e g aAfoRfe freew 1 3
|

SR Ho % e §, T fou T fomredt # 9 W S T i

(1) R 13 e 11 3F 9 &

(2) YR 1 3R e 11 3 o §

() R 1T ¢, ©ife e 11 79

(4) U1 3 &, A FOF T §

Options:

878270161969. 1

878270161970. 2

878270161971. 3

878270161972. 4

Question Number : 34 Question Id : 87827041243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding Artificial Intelligence (AI) is/are correct ?

(A) Al systems can be used in email spam filters,

(B) Al systems are capable of analyzing uncertain information.

(C) An Al system is a system for capturing, storing, processing and displaying data related to
positions on earth’s surface.

Choose the correct answer from the options given below :

() (4)Only

(2) (A)and (B) Only

(3) (A) and (C) Only

(4) (B) and (C) Only

Options :

878270161973. 1



878270161974. 2
878270161975. 3

878270161976. 4

Question Number : 34 Question Id : 87827041243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fm g (Al) F Feol # Feforfen § @ B9 WA T 9@ 2R

(A) TaE (AL) T 1 YA Sl A et o feren <1 ek

(B) T (Al) Wgfe e e & forvermm o o ol €

(C) e (Al) Wf Yl %t o T feafedl & waftm 21 & T, HRw, TR T wev i ugf

8l
7 feu o foered # 9 WE SO o T
(1) ¥ (A
(2) A (A) 4 (B)
() A (A) 9 (Q
(@) I (B) 3 (C)
Options :

878270161973. 1
878270161974. 2
878270161975. 3

878270161976. 4

Question Number : 35 Question Id : 87827041244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following features are available in word processing software such as MS-WORD ?
(A) Spell checker and Thesaurus

(B) Page Orientation

(C) Mail Merge

(D) Slide Transitions

Choose the correct answer from the options given below :

(1) (A), (B)and (D) Only

(2) (A)and (C)Only
(3) (B) and (C) Only
(4) (A), (B) and (C) Only

Options:

878270161977. 1
878270161978. 2
878270161979. 3
878270161980. 4

Question Number : 35 Question Id : 87827041244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty 9 S 9 MR greem # frefafad § 8 @ afiwem syeey €7
(A) Tl <Rt SR I

(B) TS SN

(C) Wl WSl

(D) WIES

A feu T fomred @ | W ST 1 I HINC ;

(1) @ (A), (B) 3 (D)

Options :



878270161977. 1
878270161978. 2
878270161979. 3

878270161980. 4

Question Number : 36 Question Id : 87827041245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not caused by polluted water ?
(1) Cholera
(2) Dysentery
(3) Typhoid
)

(4) Tuberculosis

Options :

878270161981. 1
878270161982. 2
878270161983. 3

878270161984. 4

Question Number : 36 Question Id : 87827041245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ffafad § wE-9t S gfod S % R0 2 el © 2

(1) &0

(2) sfeaR/afE

(3) TAREIS

(4) aufcer
Options :

878270161981. 1



878270161982. 2
878270161983. 3

878270161984. 4

Question Number : 37 Question Id : 87827041246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I Toxic chemicals often injure human organs and organ systems.
Statement I1:  Toxicants that damage kidneys are called as Hepatotoxic.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270161985. 1

878270161986. 2

878270161987. 3

878270161988. 4

Question Number : 37 Question Id : 87827041246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%@imﬁf{w%:

FUT]:  Tawed TR T e o ST WMa S 9 W e vgeEn €
FUT: 9 g0 91 T i THIH TE9N €, 3% eURIRIGEE Fel S ¢ |
I FYH o A H, = I T foskedi § 9 W& I T4H HifoC
(1) Y1 AR HIT 1 SH el &

() AT R HAT I SH T ©
(3) Y I 9E B, lfehd SR 11 TTeTd ©
(4) YT 1A T, AfFT RO T €
Options:

878270161985. 1

878270161986. 2

878270161987. 3

878270161988. 4

Question Number : 38 Question Id : 87827041247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing are related to ‘source reduction’ in inhegrated solid waste management ?

A)  Reduced Toxicity
B) Composting

) Landhll
E) More durable products

(

(

(C) Less Packaging
(D

(

Choose the correct answer from the options given below :
(1) (4) (8)and (C) Only
(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
® (), (D)and (E) Only

Options :

878270161989. 1



878270161990. 2
878270161991. 3

878270161992. 4

Question Number : 38 Question Id : 87827041247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

quferd 3 s yeve ¥, freferea § -9 8 e s’ | grafid §2

(A) T9=Tae femmaR
(B) ZHURE FAMI

(C) THfS W FT
(D) el

E) e femrs 3R
e feu e fosred @ U@ IR #1999 Fife
() e (A), (B) R ()
(2) o (A), (O 3R (E)
(3) e (B), (C) ¥ (D)
(4) % (C), (D) &R (E)
Options :

878270161989. 1
878270161990. 2
878270161991. 3
878270161992. 4

Question Number : 39 Question Id : 87827041248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Depletion of stratospheric ozone results into

(A) Increase in the ultraviolet radiation

(B) Increase in infra-red radiation

(C) Increase in skin cancer

(D) Significant impact on terrestrial flora and fauna
(E) Decrease in cataract cases

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), (C) and (D) Only

3) (B), (©), (D) and (E) Only

(4) (A), (B) and (C) Only

Options:
878270161993. 1
878270161994. 2

878270161995. 3
878270161996. 4

Question Number : 39 Question Id : 87827041248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Hee g SSTH o Ffaaemtor (&) =1 999 81 ©
(A) e farferwor # gfg

(B) 3TeEd fafetu # dfg

(C) = FmH gfg

(D) Treira seafadi 31 Sia sigefi W Ayl guE
(E) wifaanfeg o el § Hl

A1 few T fomredi # § W& IO H =TI I ;
(1) 9 (A), (B), (C) 3R (D)

(2) F=d (A), (O) ¥R (D)

(3) %4 (B), (O), (D) 3R (E)

(4) %9 (A), (B) 3 (C)

Options :

878270161993. 1
878270161994. 2
878270161995. 3
878270161996. 4

Question Number : 40 Question Id : 87827041249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nitrous Oxide (N,O).

(A) causes acid rain

(B) islaughing gas

(C) 1is carcinogenic

(D) is a green house gas

(E) is a criterion air pollutant
Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

() (O, (D) and (E) Only

(3) (B) and (D) Only

(4) (A) and (E) Only

Options:
878270161997. 1
878270161998. 2

878270161999. 3
878270162000. 4

Question Number : 40 Question Id : 87827041249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



egH ARTES (NyO)

(A) =Tg IO 1 FEF T |

(B) feiT i (ZHH Ael 1) ¥

(C) FHEHF (FRFEASIAR) T

(D) WrE=g e

(E) T Hah agugua & |

A= feu 7o fasredi § € 9 39 &1 994 S
(1) = (A), (D) 3R (E)

(2) 9 (C), (D) ¥R (E)
(3) A (B) &R (D)
(4) A (A) 3R (E)
Options :

878270161997. 1
878270161998. 2
878270161999. 3
878270162000. 4

Question Number : 41 Question Id : 87827041250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Michael Sadler commission was constituted to study the problems of :
(1) Bombay University

(2) Madras University
(3) Poona University
(4) Calcutta University

Options :

878270162001. 1
878270162002. 2
878270162003. 3
878270162004. 4



Question Number : 41 Question Id : 87827041250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WEehel TEeR AR 1 T forqent guenat 1 7o 0 & fau farm mn a2

(1) il favafaeme
(2) e fovefaemed
(3) T fevefararea
(4) Serr fagafeaaed
Options :

878270162001. 1
878270162002. 2
878270162003. 3
878270162004. 4

Question Number : 42 Question Id : 87827041251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 1986 recommended the establishment of _in the country.
(I) Community colleges

(2)  Open universities

(3) National universities of eminence

(4)  Discipline-wise universities

Options:

878270162005. 1
878270162006. 2
878270162007. 3
878270162008. 4



Question Number : 42 Question Id : 87827041251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
et foner Hifa, 1986 = <1 T forgert o= T fawif &1 off ?
(1) HIHeIEes Helfa=ed

) He favafeaered

(3) U™ Scpreal favafaere™
) Taug-anr feavafasrem

Options :

878270162005. 1

878270162006. 2

878270162007. 3

878270162008. 4

Question Number : 43 Question Id : 87827041252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Curzon's uniuersit_\F reforms reflected the official attitude towards the spread of
higher education in [ndia.

Statement Il :  There was no resistance to the Indian universities Bill piloted by Curzon from
any section of Indians,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are true
2)  Both Statement I and Statement I are false

(
(3)  Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

8782701620009. 1



878270162010. 2
878270162011. 3

878270162012. 4

Question Number : 43 Question Id : 87827041252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162009. 1
878270162010. 2
878270162011. 3
878270162012. 4

Question Number : 44 Question Id : 87827041253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Ancient thinkers) (Area of study)
(A) Panini ()  Astronomy
(B) Jivaka (II) Grammar
(C) Bhaskara (IIT) Medicine
(D) Kanada (IV) Physics

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)~(1D), (C)-(I), (D)-(IV)

(2)  (A)-(ID, (B)-(D), (O)(I), (D)-(IV)

(3) (A1), (B)-(l1), (C)-(I), (D)-(IV)

(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Options :

878270162013. 1

878270162014. 2

878270162015. 3

878270162016. 4

Question Number : 44 Question Id : 87827041253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
Ti-1 -1

(e faemes ) ( ITT &)
(A) rforE ) Ea-fasm
(B) i@k (I) AR
(C) Wr=RY (I11) Tafshem
(D) TS (IV) Hifaerame

= feu v fasredi § § 98 I F1 =94 S
(1) (A)(I), (B)-(1D), (O)-(I), (D)-(IV)

(2)  (A)-(ID), (B)-(1), (O)-(I), (D)-(IV)
(3) (A1), (B)-(D), (©O)-{), (D)-(IV)
4) (A1, (B)-(1V), (O-(1), (D)-(I1)

Options :

878270162013. 1
878270162014. 2
878270162015. 3

878270162016. 4

Question Number : 45 Question Id : 87827041254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I

(Name of University) (Year of Establishment)
(A) Bombay University (I) 1916
(B) Delhi University (II) 1943
(C) Utkal University (Im) 1922

-,

(D) SN.D.T. Women University (IV) 1857

Choose the correct answer from the options g'wen below :

(1) (A)-(V), (B)-(IL), (C)-(ID), (D)-(I)
(2) (A1), (B)-(IV), (C)(1D), (D)-(0)
(3)  (A)-(IV), (B)-(I), (C)-(1), (D)-(IT)
(4)  (A)-(), (BI-(II), (C)-IV), (D)-(0)
Options :

878270162017. 1
878270162018. 2
878270162019. 3

878270162020. 4

Question Number : 45 Question Id : 87827041254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 G-I = e sife
ﬁ?ﬁ.l -11

( favafaemer & m) ( FRITOET oY )
(A) dirl favaforme (I) 1916
(B) feoeht favafammem (I) 1943
(C) Ichd Tavaia=med (1) 1922

(D) TH.UAELE. Hfgen fagafaemem (IV) 1857
= feu U fomredi § ¥ W& I N =999 HIfGT
(1) (A)-(IV), (B)-(IIL), (C)-(ID), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)-(1I), (D)-(D)

() (A)-(IV), (B)-(I), (O)-(T), (D)-(I)

(4) (A=), (B)-(11), (©)-(1V), (D)-(I)
Options :

878270162017. 1
878270162018. 2
878270162019. 3
878270162020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701727
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827041255 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow :

Science and the techniques to which it has given rise have changed human life during the
last hundred and fifty years more than it had been changed since men took to agriculture, and the
changes that are being wrought by science continue at an increasing speed. There is no sign of any
new stability to be attained on some scientific plateau. On the contrary, there is every reason to
think that the revolutionary possibilities of science extend immeasurably beyond what has so far
been realised. Can the human race adjust itself quickly enough to these vertiginous transformations,
or will it, as innumerable former species have done, perish from lack of adaptability? The dinosaurs
were, in their day, the lords of creation, and if there had been philosophers among them, not one
would have foreseen that the whole race might perish. But they became extinct because they
could not adapt themselves to a world without swamps. In the case of man and science there is a
wholly new factor, namely that man himself is creating the changes of environment to which he
will have to adjust himself with unprecedented rapidity. But, although man through his scientific
skill is the cause of the changes of environment, most of these changes are not willed by human
beings. Although they come about through human agencies, they have, or at any rate have had so
far, something of the inexorable inevitability of natural forces. Whether Nature dried up the swamps
or men deliberately drained them, makes little difference as regards the ultimate result. Whether
men will be able to survive the changes of environment that their own skill has brought about is an
open question. If the answer is in the affirmative, it will be known some day; if not, not. If the
answer is o be in the affirmative, men will have to apply scientific ways of thinking to themselves
and their institutions.

Sub questions

Question Number : 46 Question Id : 87827041256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dinosaurs became extinct because of :
(I) A massive earthquake
) Incessant rainfall
(3) Extreme cold
) Lack of adaptability
Options :
878270162021. 1
878270162022. 2
878270162023. 3

878270162024. 4



Question Number : 47 Question Id : 87827041257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the scientific age who is responsible for the changing environment ?

(1) Nature

(2) Man

(3) Natural Disasters
(4) Wars
Options :

878270162025. 1
878270162026. 2
878270162027. 3
878270162028. 4

Question Number : 48 Question Id : 87827041258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main focus of the passage is on :
(1) Extinchion of Species

(2) Extinction of Dinosaurs

(3) Science and Human life

(4) Destruction of Forests

Options :

878270162029. 1

878270162030. 2

878270162031. 3

878270162032. 4

Question Number : 49 Question Id : 87827041259 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i

“If the answer is in the affirmative .......... refers to the question related to :
(1) Changes in environment
(2)

(3) Human extinction

(4)

B!

Human survival

Changes in scientific approach
Options :

878270162033. 1

878270162034. 2

878270162035. 3

878270162036. 4

Question Number : 50 Question Id : 87827041260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to the passage the following are true :
A) Science is bringing about rapid changes.
B) There is every likelihood that a scientific plateau will be reached.

D) There are chances that mankind may become extinct due to lack of adaptability.

(
(
(C) Man will definitely perish like the Dinosaurs,
(
(

E) Changes in the environment made through human agencies have so far shown almost the
same inexorable inevitability as that of natural forces in the past.

Choose the correct answer from the options given below :
(I) (A), (D) and (E) Only

) (4),(8)and (E) Only

(3) (A) and (E) Only

(4) (B), (C) and (E) Only

Options :

878270162037. 1

878270162038. 2



878270162039. 3

878270162040. 4

Question Id : 87827041255 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

forw T eion =t fem afe vt 46 e

firgel T B auf & R o oI SR i a3 A g T S ST 9 3 a1 e
sttt H g ot & aaferer wfter feren €, i foR g0 o o SO A mf WA AW g8
T aafereaent W foreh 70 Tenface o o Wehd T €| Tk o, 78 foem o A g anu ¢ i o
T W T g1 €, 30 o5 3 i W S € W fowf €1 o i oA
YR TR F WY WIS T € TS R T € A o e i e
(TR 3 F &, o 2 oo & 197l 7 Tl e ot 5O 21 S | S et § G
i et 9], el 2 36k ot avifes T8 8 A forel 3 oft o7 ke 78 foe e fo ! e ferme
1 el ¢ | g o feeq &1 T e o g e g ( ) 1 o e Tl R 6k | A
3 o5 % el §, e U 6w ¢, 9 o A @ e oee e e
S e % WY T WO A T W A S B g e i
Ut 1 1 €, 3 WA o afor Wit e T & 990 o e T A § | T 3 vied
A AR g o o €, W e o T el 3 SO s 1 e i ae e o
% it ST o Y ST 1 TG TR e o o, 3 e oftom ® o sim A am | @
TG ST ISTCH G AT T ern et o it e et el 2, 7 v oo s e g €| fe
T T TR & e Tt e 1 et 4T 61 ol el | 3 ST HHTIeh & ol & H A
o SR T Fel o o fee o A s 5 e )

Sub questions

Question Number : 46 Question Id : 87827041256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) 99 Y&y

(2) R aui

(3) =RW/aATAfaE i

(4)  FTIFHAAEA HT FHHI
Options:

878270162021. 1
878270162022. 2
878270162023. 3
878270162024. 4

Question Number : 47 Question Id : 87827041257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7 H waterer WiadA % fau #e SweEr € 2

(1) ¥

(2) HAIR/HTTE

(3) WM AT

(4) 95
Options:

878270162025. 1
878270162026. 2
878270162027. 3

878270162028. 4

Question Number : 48 Question Id : 87827041258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TS <1 A e g fRa R ?
(1)  wsiicri A1 fereqw iRt

(2) EEAERT 1 e
(3) Taam &R wFa SfeA
(4) = = foAma

Options:

878270162029. 1
878270162030. 2
878270162031. 3
878270162032. 4

Question Number : 49 Question Id : 87827041259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 9FieRT ¥ qftEd

(2) TS ST

(3) WM faqwiew

(4) T T H gREd
Options :

878270162033. 1
878270162034. 2
878270162035. 3
878270162036. 4

Question Number : 50 Question Id : 87827041260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 9 (A), (D) R (E)

) % (4), (B) 4 (E)

(3) o (A) 3T (E)

(&) o (B), (C) 4T (E)

Options:

878270162037. 1

878270162038. 2

878270162039. 3

878270162040. 4

Social Work
Section Id : 878270945
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 8782701728
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 87827041261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Social Work as a profession started in 1899 at :
(1) Geneva

(2) London

(3) Chicago

(4) Amsterdam
Options :

878270162041. 1
878270162042. 2
878270162043. 3

878270162044. 4

Question Number : 51 Question Id : 87827041261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U a9 F 9 H grrfersh HE i Yy 1899 § el g8 of ?
{1] s Wi, 1

(2) ©EA

(3) TerRmT

(4) THeEH
Options:

878270162041. 1



878270162042. 2
878270162043. 3

878270162044. 4

Question Number : 52 Question Id : 87827041262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the followmg is the appropriate role of social worker working with a client to find solution

to his/her social d}fsf unctioning ?

(1) Planner

(2) Advocate

(3) Facilitator

(4) Enabler

Options :

878270162045. 1

878270162046. 2

878270162047. 3

878270162048. 4

Question Number : 52 Question Id : 87827041262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:



878270162045. 1
878270162046. 2
878270162047. 3

878270162048. 4

Question Number : 53 Question Id : 87827041263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Social Worker's Exchange which was particularly interested in professional standards,
led the movement to establish a comphrevise organisation named

(I) National Association of Social Workers
(2) American Association of Social Workers
(3)  Council of Social Work Education

(4) Bertha Caper Reynolds Society
Options :

878270162049. 1

878270162050. 2

878270162051. 3

878270162052. 4

Question Number : 53 Question Id : 87827041263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162049. 1
878270162050. 2
878270162051. 3
878270162052. 4

Question Number : 54 Question Id : 87827041264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

World Social Work Day is celebrated every year on :

(1) First Tuesday of March
(2) Third Tuesday of March
(3) Second Tuesday of March
(4) Forth Tuesday of March
Options:

878270162053. 1
878270162054. 2
878270162055. 3
878270162056. 4

Question Number : 54 Question Id : 87827041264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270162053. 1
878270162054. 2
878270162055. 3

878270162056. 4

Question Number : 55 Question Id : 87827041265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who contributed towards Episteme/Discourse theory ?
(1) Ivan Pavlov

(2) Michel Foucault

(3) Aaron Beck

(4) Skinner

Options:

878270162057. 1

878270162058. 2

878270162059. 3

878270162060. 4

Question Number : 55 Question Id : 87827041265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ufreeHl/femnd fagid # fega arer fear 2

(1) =9 &

(2) HEFHA Fehl

(3) A F

(4) TERTR
Options :

878270162057. 1



878270162058. 2
878270162059. 3

878270162060. 4

Question Number : 56 Question Id : 87827041266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The process though which ‘[rrational elements carried over from other relationships' displaced
upon the therapist, is known as :

(1) Transterence

(2) Center-Transference
(3) Fear

(4)  Regression
Options :
878270162061. 1
878270162062. 2
878270162063. 3

878270162064. 4

Question Number : 56 Question Id : 87827041266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% igwa, o W @ ' o el @ ST et el o v fefeens o o st o s
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(1)

(2) Wi FEE
() W

(4) T

Options:



878270162061. 1
878270162062. 2
878270162063. 3

878270162064. 4

Question Number : 57 Question Id : 87827041267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The analysis of an institution takes the form of indentifying its positive role in the social system is
called ;
(1) Radicalism
(2) Functionalism
(3) Capitalism
(4) Feudalism
Options :
878270162065. 1
878270162066. 2
878270162067. 3

878270162068. 4

Question Number : 57 Question Id : 87827041267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
fert SR 1 forvet 0 SIS 51 W e SR Ve 1 Ve o T T6W A €, T
el ¢
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Options :

878270162065. 1
878270162066. 2
878270162067. 3
878270162068. 4

Question Number : 58 Question Id : 87827041268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= refers to reverting to less mature behaviours that are characteristic of earlier stages of
development,

(I)  Compensation

(2) Regression

(3)  Projection

(4) Day dreaming

Options:

878270162069. 1

878270162070. 2

878270162071. 3

878270162072. 4

Question Number : 58 Question Id : 87827041268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

F 9 3767 vE SRR &1 SR oie & 9 fo & i T o afiee g



Options :

878270162069. 1
878270162070. 2
878270162071. 3
878270162072. 4

Question Number : 59 Question Id : 87827041269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The first stage of the case work process as in all pmblemasolvmg, is to ascertain and clar'Lf}F the

(I) Remuneration for solving the problem

(2) Environmental aspects of the problem

(3)  Facts of the problem

(4)  Support system of the client and case worker
Options:

878270162073. 1

878270162074. 2

878270162075. 3

878270162076. 4

Question Number : 59 Question Id : 87827041269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 6 o e e § A s e U A G AW T o 8
T e 2 ¢

(1) W S o TS

2) TR % TETe R

3) TN F T

4) o el S Hedl o qHe

Options:

(
(
(

878270162073. 1
878270162074. 2
878270162075. 3

878270162076. 4

Question Number : 60 Question Id : 87827041270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The historical change from tradition to rationality as the dominant mode of human thought.
Who amongst the following gave this perspective ?

(I) Yogendra Singh on transition of society

(2) Marc Weber on rationalisation of society

(3) Pitrion Sorokin on change

(4)  MN. Srinivas on modernisation

Options :

878270162077. 1

878270162078. 2

878270162079. 3

878270162080. 4

Question Number : 60 Question Id : 87827041270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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(4) AT, S A A

Options :

878270162077. 1
878270162078. 2
878270162079. 3

878270162080. 4

Question Number : 61 Question Id : 87827041271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the style of leadership in which the participation in decision making by the group members
is high and leaders participation is low ?

(1) Authoritarian

(2) Democratic

(3) Dictatorial

(4) Laissez-faire

Options :

878270162081. 1

878270162082. 2

878270162083. 3

878270162084. 4

Question Number : 61 Question Id : 87827041271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T 71 7 A 0 & o ot R o W o el ) o o o o
e f3 & &7
(1) e
(2) e
(3) SR
() T
Options :
878270162081. 1
878270162082. 2
878270162083. 3
878270162084. 4

Question Number : 62 Question Id : 87827041272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The classification of group processes in four categories namely basic, structural, locomotive and
molar are identified by :

(1) Toseland and Rivas
(2) Trecker
(3) Douglas
(4) Konapka
Options :
878270162085. 1
878270162086. 2
878270162087. 3

878270162088. 4

Question Number : 62 Question Id : 87827041272 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) e 3R T

)
3) e
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Options :

(
(
(

878270162085. 1
878270162086. 2
878270162087. 3

878270162088. 4

Question Number : 63 Question Id : 87827041273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Community organization as a macro method does not refer to :

(1) afield for experimentation

(2) an area development action programme

(3) a method of working with people

(4) meeting the needs of community people through collective action.
Options:

878270162089. 1

878270162090. 2

878270162091. 3

878270162092. 4

Question Number : 63 Question Id : 87827041273 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T g5 Ygid & T H e 9e w1 anr et § 8 g e e
(1) wEme &
(2) U & faemrd foran FrisRH
(3) S % 1 1 FH H TGl
(4) e foran & WeAm § WA o S H AR F i
Options :
878270162089. 1
878270162090. 2
878270162091. 3

878270162092. 4

Question Number : 64 Question Id : 87827041274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The role of the enabler in community organisation focusses on :
(I) Helping the people to voice their discontent leaving them to solve their problems
2)  Helping the people to voice their concern

) Helping the people to organise around similar problems

(

(3

(4) Helping people to understand and analyse their problem, encourage mobalisation, enhance
cooperation and focus on common objectives

Options:

878270162093. 1
878270162094. 2
878270162095. 3

878270162096. 4

Question Number : 64 Question Id : 87827041274 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

eI Ge B 3R (Wer) ' A R R W g o
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Options :

878270162093. 1
878270162094. 2
878270162095. 3

878270162096. 4

Question Number : 65 Question Id : 87827041275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Social action is bmadl}r considered as a -
(1) Violent action

(2) Punitive action
(3) Concerted action
(4) Destructive action
Options:

878270162097. 1
878270162098. 2
878270162099. 3

878270162100. 4

Question Number : 65 Question Id : 87827041275 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

grTfsrer foram =t Hie d 9 | ST € U

(1) Tegek o

(2) TEHF TR

(3) I o

(4) fasaarms fFn
Options :

878270162097. 1
878270162098. 2
878270162099. 3

878270162100. 4

Question Number : 66 Question Id : 87827041276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Conscientisation appmach in social acton is :
(1) Providing services

(2) Praxis

(3) Organisation of Masses

(4) Undertaking research studies
Options:

878270162101. 1
878270162102. 2
878270162103. 3

878270162104. 4

Question Number : 66 Question Id : 87827041276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qrTfsreR faam  =raer STy SN §
(1) Sa 98 LT
(2) @R

(3) Sl T TITSH
(4) INY SHATT HLAT

Options :

878270162101. 1
878270162102. 2
878270162103. 3

878270162104. 4

Question Number : 67 Question Id : 87827041277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Do you get along well with your parents ?” The question is an example of :

(I) Value loaded question

(2) Contingency question

(3) Matrix question

(4) Double-barreled question

Options :

878270162105. 1

878270162106. 2

878270162107. 3

878270162108. 4

Question Number : 67 Question Id : 87827041277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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(1) dcg dres 99
(2)  HFETERAT G
(3) HigT ¥

(4) SaA-IEE TH
Options :

878270162105. 1
878270162106. 2
878270162107. 3

878270162108. 4

Question Number : 68 Question Id : 87827041278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not an example of non-probability sampling ?
(1) Quota sampling

(2) Cluster sampling

(3) Snowball sampling

(4) Purposive sampling

Options :

878270162109. 1

878270162110. 2

878270162111. 3

878270162112. 4

Question Number : 68 Question Id : 87827041278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) i gfd=gH

(2) TR Hfd=RE

(3) HH@re ufd=EA

(4) WEeTEY wieE
Options:

878270162109. 1
878270162110. 2
878270162111. 3

878270162112. 4

Question Number : 69 Question Id : 87827041279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a key aspect of the Qualitative research ?

(1)  Generating hy pothesis

(2) Inductive logic

(3) Subjectivity

(4) Deductive logic

Options :

878270162113. 1

878270162114. 2

878270162115. 3

878270162116. 4

Question Number : 69 Question Id : 87827041279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(3) Al
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Options:

878270162113. 1
878270162114. 2
878270162115. 3

878270162116. 4

Question Number : 70 Question Id : 87827041280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following explains the “inverse’ relationship between two variables ?
(1) The relationship between variables changes at certain levels

(2) Both variables move in the same direction

(3)  There is no change in the direction of the variables

(4) One variable increases, the other variable decreases

Options :

878270162117.1

878270162118. 2

878270162119. 3

878270162120. 4

Question Number : 70 Question Id : 87827041280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270162117. 1
878270162118. 2
878270162119. 3

878270162120. 4

Question Number : 71 Question Id : 87827041281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In component of Administration (POSDCoRB), Co stands for _
(L
(2
(3
(

Collaboration
i o-operation

4) Collateral

)

)

) Co-ordination
)

Options :
878270162121. 1
878270162122. 2
878270162123. 3

878270162124. 4

Question Number : 71 Question Id : 87827041281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) weAm
(2) HEHR
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(4) e
Options :

878270162121. 1
878270162122. 2
878270162123. 3

878270162124. 4

Question Number : 72 Question Id : 87827041282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who said that the study of administration deals with Men, Material and Method ?
(1) Luther Gullick

(2) Taylor

(3) MG Ross

(4) Henry Fayol

Options :

878270162125. 1

878270162126. 2

878270162127.3

878270162128. 4

Question Number : 72 Question Id : 87827041282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270162125. 1
878270162126. 2
878270162127.3

878270162128. 4

Question Number : 73 Question Id : 87827041283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The charitable agencies are registered under :

(1) Section 12 of Indian Company Act 2013

(2) Societies Registration Act, 1860

(3) Societies Registration Act, 1960
(4) Section 12 of Indian Company Act, 2014
Options :
878270162129. 1
878270162130. 2
878270162131. 3

878270162132. 4

Question Number : 73 Question Id : 87827041283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



RIS ST 1 § FHIA & Tarid Ysiipd a1 © ?
(1) 9RA™ HY SA4HIH 2013 & 9/ 12

(2) HrEEd gsieRor stfufTEm, 1860

(3) HrEEd TSt AfHfEm, 1960

(4) WA A SAfufEm 2014 1 410 12

Options:

878270162129. 1
878270162130. 2
878270162131. 3

878270162132. 4

Question Number : 74 Question Id : 87827041284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a function of social welfare administrator ?
(1)  Auditing of allocated fund for programes

(2) Programme Planning and development

(3) Programme Evaluation and monitors

(4) Resource allocation and management

Options :

878270162133. 1

878270162134. 2

878270162135. 3

878270162136. 4

Question Number : 74 Question Id : 87827041284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) HHHEA faqo ud gayH
Options:
878270162133. 1
878270162134. 2
878270162135. 3

878270162136. 4

Question Number : 75 Question Id : 87827041285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Accord ing to the demographi{: transition model and the five stages of d@velopmenl, [ndia is in the
__ stage.

(
2
(
(

) Second
) Third
3
Y

Fourth

Fifth
Options :
878270162137. 1
878270162138. 2
878270162139. 3

878270162140. 4

Question Number : 75 Question Id : 87827041285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



iR TepT Weet U fashr 1 Ui sl % SRR, A i feef gl

(1) fad
() i
0
(4 .
Options:

878270162137. 1
878270162138. 2
878270162139. 3

878270162140. 4

Question Number : 76 Question Id : 87827041286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The third five-year plan in India was introduced in _
(1) 1963 - 1968

(2) 1962 - 1967

(3) 1961 - 1966

(4) 1960 - 1965

Options :

878270162141. 1

878270162142. 2

878270162143. 3

878270162144. 4

Question Number : 76 Question Id : 87827041286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WRA ¥ Jard G=edTd A 1 FHTEHTA i G187
(1) 1963 - 1968

(2) 1962 - 1967

(3) 1961 - 1966

(4) 1960 - 1965

Options:

878270162141. 1

878270162142. 2

878270162143. 3

878270162144. 4

Question Number : 77 Question Id : 87827041287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per Human Development Report 2023, India ranked at position.
(1) 1320d

(2) 142nd

(3) 130t

(4) 1315t

Options :

878270162145. 1
878270162146. 2
878270162147. 3

878270162148. 4

Question Number : 77 Question Id : 87827041287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 132 %
(2) 14274
(3) 130 di
(4) 1314
Options:

878270162145. 1
878270162146. 2
878270162147. 3

878270162148. 4

Question Number : 78 Question Id : 87827041288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who has developed the Biological model of social development ?
(1) Hawkins

(2) Sutherland

(3) Farrington

(4) Urie Bronfenbrenner

Options :

878270162149. 1

878270162150. 2

878270162151. 3

878270162152. 4

Question Number : 78 Question Id : 87827041288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) @hFH

(2) WU

(3) e

(4) T FAAFTSAT
Options:

878270162149. 1
878270162150. 2
878270162151. 3

878270162152. 4

Question Number : 79 Question Id : 87827041289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“The Poverty is more than a financial problem. It is also a problem of individual mastery, dignity,
and self esteem.” This statement is made after conducting studies on helpless-ness by :

(1)  Abhjit Banerjee

(2) Amaritya Sen

(3) Seligman

(4) Deglau

Options :

878270162153. 1

878270162154. 2

878270162155. 3

878270162156. 4

Question Number : 79 Question Id : 87827041289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

(
(
(

878270162153. 1
878270162154. 2
878270162155. 3

878270162156. 4

Question Number : 80 Question Id : 87827041290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Equal right of men and women to adequate means of livelihood” is one of the priciples of policy
to be followed by the State for securing :

(1) Social justice

(2) Moral justice

(3)  Economic justice

(4)  Political justice

Options :

878270162157. 1

878270162158. 2

878270162159. 3

878270162160. 4

Question Number : 80 Question Id : 87827041290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

878270162157. 1
878270162158. 2
878270162159. 3

878270162160. 4

Question Number : 81 Question Id : 87827041291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The jurisprudential doctrine of “distributive justice” is being embodied in the :
(1) Article 38 and 39

(2) Article 14
(3) Article 43-A
(4) Article 256
Options :
878270162161. 1
878270162162. 2
878270162163. 3

878270162164. 4

Question Number : 81 Question Id : 87827041291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
o =g 1 faftemeta fagia feg sr=ee # fAfea €2
(1) =55 38 3 39

(2) #T=3% 14
(3) #AT=95 43-A
(4) =T 256
Options :

878270162161. 1
878270162162. 2
878270162163. 3

878270162164. 4

Question Number : 82 Question Id : 87827041292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The term management by objectives (MBO) usually refers to :
(I) Behaviorally Anchored rating scale

(2) Multiple step up company wide goal-setting and appraisal programme
(3) Supervisor’s narrative assessment of the employees

(4)  Critical incident method

Options :

878270162165. 1

878270162166. 2

878270162167. 3

878270162168. 4

Question Number : 82 Question Id : 87827041292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162165. 1

878270162166. 2

878270162167. 3

878270162168. 4

Question Number : 83 Question Id : 87827041293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the fnllnw'mg is not a type of mental retardation ?
(1) Border line mental retardation

(2) Hair line mental retardation
(3) Moderate mental retardation
(4) Profound mental retardation
Options :

878270162169. 1
878270162170. 2
878270162171.3

878270162172. 4

Question Number : 83 Question Id : 87827041293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefefiad o 9 wrfaes HeT o1 WeRr i |1 e €7
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(4)

—

TV A Hed
Options:

878270162169. 1
878270162170. 2

878270162171.3

878270162172. 4

Question Number : 84 Question Id : 87827041294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

As per the section 11(4) of the POSH Act 2013, what is the stated time line for Internal complaint/
Local complaint committee (ICC & LCC) to complete the enquiry ?

(1)  Within 30 days

(2) Within 60 days

()  Within 90 days

(4)  Within 45 days

Options :

878270162173. 1

878270162174. 2

878270162175. 3

878270162176. 4

Question Number : 84 Question Id : 87827041294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 30fe % s

() 60 % &
(3) 90fe o s
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Options:
878270162173. 1
878270162174. 2
878270162175. 3

878270162176. 4

Question Number : 85 Question Id : 87827041295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a step of the process of job analysis ?
(1) Performance Appraisal

(2) Selection of job
(3) Gather information about job
(4) Job description

Options :

878270162177. 1
878270162178. 2
878270162179. 3
878270162180. 4

Question Number : 85 Question Id : 87827041295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) ToEd g
(2) HE-=TT
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Options:

878270162177. 1
878270162178. 2
878270162179. 3

878270162180. 4

Question Number : 86 Question Id : 87827041296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which year was celebrated as 'year of probation’ ?

(1) 1975
(2) 1971
(3) 1982
(4) 1989
Options :

878270162181. 1
878270162182. 2
878270162183. 3

878270162184. 4

Question Number : 86 Question Id : 87827041296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 1975
(2) 1971
(3) 1982
(4) 1989

Options:

878270162181. 1
878270162182. 2
878270162183. 3

878270162184. 4

Question Number : 87 Question Id : 87827041297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The social work practice to coproduce transformative social change that creates a liu-'ing viable
earth with equilable shared and distributed resources 1s known an :

(1)  Green social work

(2)  Ecological social work

(3)  Eco-social work

(4)  Environmental social work

Options :

878270162185. 1

878270162186. 2

878270162187. 3

878270162188. 4

Question Number : 87 Question Id : 87827041297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

(
(
(

878270162185. 1
878270162186. 2
878270162187. 3

878270162188. 4

Question Number : 88 Question Id : 87827041298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The efficacy of social defence programmes in term of protecting society against crimes, and
maintenance of social order will increase with :

(I) The appointment of more police personnel

(2) The engagement of para social workers in the institutions

(3)  The greater participation by the public

(4)  The inclusion as one of the task of Sustainable Development goals
Options :

878270162189. 1

878270162190. 2

878270162191. 3

878270162192. 4

Question Number : 88 Question Id : 87827041298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

878270162189. 1
878270162190. 2
878270162191. 3

878270162192. 4

Question Number : 89 Question Id : 87827041299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Gaia Hypothesis, claim that planet earth it self should be een as a living organism, inside
which humans and other species each have a vital part to play. It was propounded by :

(1) Leana Dominellie

(2) Jame Lovelock

(3) RRSingh and Neera Agnimitra

(4) R K Pachouri

Options :

878270162193. 1

878270162194. 2

878270162195. 3

878270162196. 4

Question Number : 89 Question Id : 87827041299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

878270162193. 1
878270162194. 2
878270162195. 3
878270162196. 4

Question Number : 90 Question Id : 87827041300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a model of social action ?
(1) Elitist Model
(2) Popular Model
(3) Legislative Action Model
)

(4) Locality Development Model

Options :

878270162197. 1
878270162198. 2
878270162199. 3

878270162200. 4

Question Number : 90 Question Id : 87827041300 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) AfaeTE mea

(2) TR Higd

(3) Tauri &M \iea

(4) TIHE foee wed
Options :

878270162197. 1
878270162198. 2
878270162199. 3
878270162200. 4

Question Number : 91 Question Id : 87827041301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Values can be distinguished from :

(A) facts

(B) meeds

(C) rights

(D) ideologies

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (A), (B) and (C) Only

(3) (B), () and (D) Only

4) (A), (B), () and (D)

Options :

878270162201. 1
878270162202. 2
878270162203. 3

878270162204. 4



Question Number : 91 Question Id : 87827041301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Hedi =t Fefafea 9 fu= e s g € -
(A) 99
(B) STETAHAY
(C) AIFHR
(D) formmemd
= feu MU fasredi © 9 W& SO 1 =994 FHIfAU
(1) 9 (A) R (B)
() FA (A), (B) #R(C)
(3) F (B), (C) 3R (D)
4) (A), (B), (O) 3 (D)
Options :
878270162201. 1
878270162202. 2
878270162203. 3

878270162204. 4

Question Number : 92 Question Id : 87827041302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The code of ethics developed by NASW/NAPSWI provides :

(A) respect for the fundamental values of social work profession

(B) guide for social workers’ conduct and adjudication of ethical issues
(C) ways of working in term of methods and techniques

(D) a guide for professional role and relationship at various levels

(E) basis for the adjudication of methodological issues

Choose the correct answet from the options given below :
(1) (A), (B)and (C) Only

(2) (A), (B) and (D) Only
(3) (B), (D) and (E) Only
4) (B), (C) and (E) Only
Options:

878270162205. 1
878270162206. 2
878270162207. 3

878270162208. 4

Question Number : 92 Question Id : 87827041302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162205. 1
878270162206. 2
878270162207. 3
878270162208. 4

Question Number : 93 Question Id : 87827041303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hollis-Taylor report on social work education portrays social work as a :
(A) helping activity

(B) social activity

(C) liasion activity

(D) network activity

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A), (B) and (D) Only
(3) (B), (C) and (D) Only
(4) (A), (C) and (D) Only

Options:

878270162209. 1
878270162210. 2
878270162211.3

878270162212. 4

Question Number : 93 Question Id : 87827041303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

8782701622009. 1
878270162210. 2
878270162211. 3

878270162212. 4

Question Number : 94 Question Id : 87827041304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are not dominant part of feminist social work ?

(A) Recognising the diversity of women

(B) Considering women as passive agents incapable of making decisions for themselves in all
aspects of their lives

(C) Providing women with the space to voice their own needs and solutions to problems

(D) Acknowledging the principles ‘the personal is political’ is relevant at macro, miso and micro
levels of practice

(E)  Recognising that woman's individual problems are private and personal

Choose the correct answer from the options given below :

(1) (B) and (C) Only

(2) (C) and (E) Only

(3) (B) and (E) Only

) (8) (C)and (5 Ouly

Options :
878270162213. 1
878270162214. 2

878270162215. 3
878270162216. 4

Question Number : 94 Question Id : 87827041304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162213. 1
878270162214. 2
878270162215. 3

878270162216. 4

Question Number : 95 Question Id : 87827041305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A bio-psycho-social approach focusses on :

(A) Physical causes and treatment

(B) Traditional medical model

(C) Interrelationships between Physical, Psychological and Social functioning
(D) More holistic perspective on health

Choose the correct answer from the options given below :

(I) (A), (B) and (C) Only

(2) (A), (C) and (D) Only

(3) (B), (C) and (D) Only

(4) (A)and (B) Only



Options :

878270162217. 1
878270162218. 2
878270162219. 3
878270162220. 4

Question Number : 95 Question Id : 87827041305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) WHIfF FF T STER
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(1) ad (A), (B) 3 (C)
(2) 9 (A), (C) IR(D)
(3) 9 (B), (C) (D)
(4) F (A) 3T (B)
Options:

878270162217. 1
878270162218. 2
878270162219. 3

878270162220. 4

Question Number : 96 Question Id : 87827041306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are examples of the defence mechanism ?
(A) Repression

(B) Rationalisation

(C) Regression

(D) Reductionism

(E) Reaction formation

Choose the correct answer from the options given below :
(I) (A), (B), (C) and (D) Only

() (), (B) (C) and (E) Only

(3) (B), (O), (D) and (E) Only
(4) (A), (B), (D) and (E) Only
Options:

878270162221. 1

878270162222. 2

878270162223. 3

878270162224. 4

Question Number : 96 Question Id : 87827041306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) afamA

(D) SI=HETS
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(2) FA (A), (B), (C) 3R (E)
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(4) 9 (A), (B), (D) IR (E)



Options :

878270162221. 1
878270162222. 2
878270162223.3
878270162224. 4

Question Number : 97 Question Id : 87827041307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are not principles of case work ?
(A) Principle of Individualisation

(B) Principle of self-determination

(C) Principle of Orientation

(D) Principle of Non-judgmental attitude

(E) Principle of program planning

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (E) Only

(2) (B), (C) and (D) Only

(3) (C) and (E) Only

(4) (D) and (E) Only

Options:
878270162225. 1
878270162226. 2

878270162227.3

878270162228. 4

Question Number : 97 Question Id : 87827041307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) orIfEmeRTRT = fagid

(B) eH-FERr &1 fagid

(C) afvgaEierTo =1 fosid

(D) TR-Furereer sifvafa o fagia

(E) rEskH AsH =1 fagia

A= feu 7o fasredi § € 9 39 &1 994 S
() e (A), (B), (O) 3R (E)

(2) %99 (B), (C) 3R (D)
(3) 9 (C) 3 (E)
(4) %9 (D) 3R (E)
Options:

878270162225. 1
878270162226. 2
878270162227. 3

878270162228. 4

Question Number : 98 Question Id : 87827041308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following commonly seen behaviours over in response to anxiety ?
(A) Swearing

(B) Using abusing Language

(©)

(D)
(E) Laughing

Cursing

Crying

Choose the correct answer from the options given below :
(1) (&), (B) and (C) Only

(2) (A)and (C) Only

() (D) (C) and (A) Only

(4) (A), (B), (C), (D) and (E)



Options :

878270162229. 1
878270162230. 2
878270162231.3
878270162232. 4

Question Number : 98 Question Id : 87827041308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) % (A), (B) 3R (C)

(2) e (A) 3R (O)

(3) Fad (D), (C) R (A)

(4) (A), (B), (©), (D) SR (E)

Options:

878270162229. 1

878270162230. 2

878270162231. 3

878270162232. 4

Question Number : 99 Question Id : 87827041309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The important components of community work are :
(A) The target population

(B) Groups within communities

(C) Informal leaders of the communities

(D) Resources

(E) Interaction

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (©), (D) and (E) Only

(4) (A), (B) and (E) Only

Options :

878270162233. 1

878270162234. 2

878270162235. 3

878270162236. 4

Question Number : 99 Question Id : 87827041309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

H@MW%WWWW%:
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(C) HHEE o SAMEEs =l

(D) HHEA

(E) 3= e

= feu 7o foepedi § € W& IR F1 =99 HIfAC
(1) = (A), (B) 3R (C)

(2) = (B), (C) 3R (D)

(3) = (O), (D) 3 (E)

(4) FaE (A), (B) 3R (E)



Options :

878270162233. 1
878270162234. 2
878270162235. 3

878270162236. 4

Question Number : 100 Question Id : 87827041310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The principles of community work practice given by H.Y. Siddiqui, especially for Indian context
are :

(A) The Principle of democracy and welfare
(B)  The Principle of specific objectives
(C) The Principle of planning

D)

(

E) The Principle of social welfare programme

The Principle of people’s participation

Choose the correct answer from the options given below :

(1) (A), (B)and (C) Only
( 5

(2) (C), (D) and (E) Only
(3) (B), (C) and (D) Only
(4) (B), (D) and (E) Only
Options:

878270162237. 1
878270162238. 2
878270162239. 3

878270162240. 4

Question Number : 100 Question Id : 87827041310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ta, . gt gr fem o vy e wreer 1 fagh, fay wy g ondg ded A €
(A) e 3 Feam F fagi

(B) faftre e =1 frgld

(C) g 1 fagid
(
(

D) SH-4TieRT =1 fgi

E) Hwifo Fedm FREsHA & g

A+ fou o fosredi # 9 WE A0 T Fio ;
(1) e (A), (B) 3 (C)

() & (C), (D) M (E)
(3) e (B), (C) ¥R (D)
(4) e (B), (D) 4R (B)
Options:

878270162237. 1
878270162238. 2
878270162239. 3
878270162240. 4

Question Number : 101 Question Id : 87827041311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In Concretization model of social action :

(A) People mobilize resources for themselves

(B) People make efforts to educate themselves

(C) People create awareness among masses

(D) People liberate themselves from structural bonds
(E) People organize recreational activities

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

3) (C€), (D) and (E) Only

(4) (B), (D) and (E) Only



Options :

878270162241. 1
878270162242. 2
878270162243. 3

878270162244. 4

Question Number : 101 Question Id : 87827041311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
qmTfsres 1@ & =1 S Higd |
(A) TN 39 TaT HH1EA F2 © |
(B) @ 3194 = Furfara s % AT X B
(C) <M a1 o sft= ST&ehd] UaT &Yd © |
(D) <N grEmTd S | W e A ©
(E) < WANSH & fRarRam safed #td € |
A= feu 7o fasredi § € 9 39 &1 994 S
() 9 (A), (B) 3R (C)
(2) ¥4 (B), (C) 3 (D)
(3) d (C), (D) R (E)
(4) = (B), (D) R (E)

Options:

878270162241. 1

878270162242. 2

878270162243. 3

878270162244. 4

Question Number : 102 Question Id : 87827041312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about Life History Method of research ?
(A) Itis a Qualitative method of inquiry

(B) Itisa Quantitative method of inquiry

(C) It aims to study the significant events and meanings in the lives of people
(D) Itis a qualitative interviewing method

(E) It aims at in-depth examination of single phenomenon

Choose the correct answer from the options given below :
(1) (D) and (E) Only

(2) (B) and (C) Only

(3)  (B), (C) and (D) Only

4) (A), (C) and (D) Only

Options :

878270162245. 1

878270162246. 2

878270162247. 3

878270162248. 4

Question Number : 102 Question Id : 87827041312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfad o § -9 FU9 M &1 Sa-99 9§fd & a1 § H/el ¢ 2
(A) 7€ Ufg=sl & e TEh T |

(B) @ UgsST i Uak IROMHHF T5id & |

(C) ¥ @Ml & o &1 Teeyol Fesl iR o1l 3 errem R afer €
(D) I8 T U faaie Ighd ¢

(E) TUH T UFHE ST Fl TR Y WG FA T

et e o fomredi # | W I =TI FC ;
(1) %9 (D) ¥R (E)

(2) FFd (B) 3R (C)

(3) a4 (B), () ¥R (D)

(4) FFE (A), () R (D)

Options:

878270162245. 1
878270162246. 2
878270162247. 3
878270162248. 4

Question Number : 103 Question Id : 87827041313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the [o]lnwing statements are correct about ‘Positivism’ appmach in social science
research ?

A) It emphasizes on the use of scientific methods of inquiry
B) It emphasizes on singular reality

(
(
(C) It focuses on locating meaning making by the subjects
(D) It stresses on value-neutrality

(E

[t stresses on the subjectivity of the researcher

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only
@) (), (8)and (B) Oy
(3) (A), (B) and (C) Only
(4) (C), (D) and (E) Only

) and

p— i —

) (B
) (B

3

—

Options:

878270162249. 1
878270162250. 2
878270162251. 3
878270162252. 4

Question Number : 103 Question Id : 87827041313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I forar SFem e’ sum o o N el § @S-8 S we E
(A) 7 IR0 1 SR T o FAT TS S €

(B) 7 ek Sfochdl T SR A% |

(C) e STEel] R Ge! T 79 7 VA TH W H = &

(

(

R

D) %% Yed-eedal W SR <l ¢

E) & Mok i il T S < ¢
A+ fou o fosredi # 9 WE A0 T Fio ;
1) % (4), (B) 4 (D)

(

(2) e (A), (B) 4R (E)
(3) e (A), (B) & (C)
(4) ¥ (C), (D) 3 (E)
Options:

878270162249. 1
878270162250. 2
878270162251. 3

878270162252. 4

Question Number : 104 Question Id : 87827041314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct option in relation to Social Welfare Administration :
(A) Social Welfare Administration is an Art

(B) Social Welfare Administration is a Science

(C) Social Welfare Administration is a Legislation

(D) Social Welfare Administration is a Discipline

Choose the correct answer from the options given below :

(1)  (A), (B) and (D) Only

(2) (A), (B) and (C) Only
(3) (B), (C) and (D) Only
(4)  (A), (B), (C) and (D)

Options :



878270162253. 1
878270162254. 2
878270162255. 3

878270162256. 4

Question Number : 104 Question Id : 87827041314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
TSR HedTl YIEA o ot H G&l foshed & T+
(A) TS FHedm] T UF Fell ¢ |
(B) WTHITSTEh SheATYl FOMEA Wk fosm & |
(C) TTIfSTeh el U U faum )
(D) TTHISE AT JATET Uk ST9EHA ¢ |
= feu v fasredi # € 98 39 1 =94 FHifeU
(1) I (A), (B) 3R (D)
(2) A (A), (B) 3R (C)
(3) %= (B), (C) 3T (D)
4) (A), (B), (O) FI(D)
Options :
878270162253. 1
878270162254. 2
878270162255. 3

878270162256. 4

Question Number : 105 Question Id : 87827041315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Fallowing are the statutory requirements for the Welfare Organjzatinn for receiving donations

from the public :

(A) Permanent Account Number (PAN)

(B) Tax Deduction Account Number (TAN)

(C) 12Aand80 G of the IT Act

(D) 80C of the IT Act

Choose the correct answer from the options given below :
(1) (A) (2 and (D) Only

) (B) (0 and (D) Only
(3) (A) and (B) Only

) (4)(8)and (C) Only
Options:
878270162257. 1
878270162258. 2
878270162259. 3

878270162260. 4

Question Number : 105 Question Id : 87827041315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
S H TF @ % T e gred ¥ frefafaa gifafier smemd €
(A) THHE ZEREE Fa ()
(B) T HId! @ral HeeA (2 UWHA)
(C) R sifufam =1 12 T iR 80 St
(D) FeRT SfafTaH 1 80 Hi

T feu v fasredi # 9 W& O 1 F949 FISU
(1) e (A), (B) #R (D)

(2) Fd (B), (C) &R (D)

(3) e (A) R (B)

(4) 9 (A), (B) 3R (C)

Options :



878270162257. 1
878270162258. 2
878270162259. 3

878270162260. 4

Question Number : 106 Question Id : 87827041316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following are the approaches to sustainable development :
(A) Appraisal of the environment

(B) Natural Resources Accounting

(C) Government Policies and Economic Outlook

(D) Evaluation of Decent Work

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D)

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

(4) (A), (B) and (C) Only

Options :

878270162261. 1

878270162262. 2

878270162263. 3

878270162264. 4

Question Number : 106 Question Id : 87827041316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



frefafaa auviy faswe % 39 ©

(A) TIEO T SR

(B) UTRfdeh ST 1 eRaihA

(C) T ifear oir enfefe ufige

(D) Te&= ®E & gedisd

= fou U foswedi § € 9@ 30T F =999 HifT
(1) (A), (B), (O) =R (D)

(2) = (B), (C) 3R (D)
(3) ¥ (A), (B) ¥R (D)
(4) Fad (A), (B) 3R (C)

Options:

878270162261. 1
878270162262. 2
878270162263. 3

878270162264. 4

Question Number : 107 Question Id : 87827041317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Social Policies are :

(A) Directives

(B) Guides

(C) Set of Principles

(D) Plans of Action

(E) Collective Strategies
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
3) (C€), (D) and (E) Only
(4) (A), (B), (C), (D) and (E)

Options :



878270162265. 1
878270162266. 2
878270162267. 3

878270162268. 4

Question Number : 107 Question Id : 87827041317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
grTfoTeR Aifaar ©
(A) frew
(B) WHFiEYiH
(C) fagidl = wqe
(D) T = IS
(E) wmfesh W
<3 firw T forsed & 9 T S B FIC
(1) d (A), (B) 8TR(C)
(2) %9 (B), (C) ¥R (D)
(3) Fa (C), (D) 3 (E)
4) (A), (B), (O), (D) 3 (E)
Options :
878270162265. 1
878270162266. 2
878270162267. 3

878270162268. 4

Question Number : 108 Question Id : 87827041318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The fundamental objective of the Panchayati Raj System is to ensure the following :

(A

(

(C) Democratic decentralisation
)

(D

(E) Financial mobilisation

) Political accountability

B) People’s participation in development
Recognition as 3rd oy system of governance structure

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2)  (B), (C) and (D) Only

(3) (A), (C) and (E) Only

(4)  (A), (B), (C) and (D) Only
Options:

878270162269. 1
878270162270. 2
878270162271.3

878270162272. 4

Question Number : 108 Question Id : 87827041318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TS YOGt W1 Hifersh 3avd o7 GAfEd T © 7
(A) TSI SrEmace!

(B) Tasra # @il &1 wrfieRy

(C) <rhdifae fasharewto

(D) WITEA o1 HC Sl g TG YONe o ®9 H A
() To<ia HereA

1 faw o fomredt # § T O 1 =9 FIT ;

(1) %9 (A), (B) 3R (D)

(2) %9 (B), (C) 3R (D)

(3) A (A), (C) #HR (E)

(4) A (A), (B), (C) 3R (D)



Options :

878270162269. 1
878270162270. 2
878270162271.3
878270162272. 4

Question Number : 109 Question Id : 87827041319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main aim of the Family Court Act 1986 is :

(A) to promote conciliation in disputes relating to marriage and family

(B) to serve speedy settlement of dispute relating to marriage and family

(C) to replace Hindu Marriage Act

(D) to be represented by a legal practitioner, as a matter right, in a suit or proceeding
Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (A), (B)and (C) Only
(3) (A), (B) and (D) Only
(4) (B) and (D) Only
Options :

878270162273. 1
878270162274. 2
878270162275. 3

878270162276. 4

Question Number : 109 Question Id : 87827041319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



UfaR e AT 1986 % TR R E

A) ToaT @ oftam Faef foem] W e # age o

B) foeTe & Uftam el foree] o1 wiges: FHYH

Q) fo foam sifufm =1 wfowanfud e

D) ferelt are v gt A siferm 3 AR W U fafier e gr wfeffi e o g
Al fou o fosred @ § W@ S 1 T F

(1) (A) (B

() % (A), (B) ¥R (O
(3) 9 (A), (B) W (D)
(4) (B) ¥R (D)

(
(
(
(

T
Bk
Options:
878270162273. 1
878270162274. 2
878270162275. 3

878270162276. 4

Question Number : 110 Question Id : 87827041320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are four forms of organisational justice ?
(A) Distributive justice

(B) Informational justice

(C) Procedural justice

(D) Inter personal justice

(E) Fair process justice

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

() (A), (B), (O) and (E) Only

3) (B), (©), (D) and (E) Only

4) (A), (C), (D) and (E) Only

Options :



878270162277. 1
878270162278. 2
878270162279. 3

878270162280. 4

Question Number : 110 Question Id : 87827041320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HTaIeHe: =14 o IR YehR 1 © 7
(A) TaaLumeRsF =4

(B) HIAIE =4
(C) WiFarcHsF =g
(D) SideafaTs =™

(E) Touet ufsran =ma
== feu U faepedi § 9 W S9Y 1 999 Hie
(1) 9 (A), (B), (O) 3R (D)
) A (A), (B), (C) 3R (E)
(3) A (B), (C), (D) ¥R (E)
) A (A), (O), (D) R (E)
Options :
878270162277. 1
878270162278. 2
878270162279. 3

878270162280. 4

Question Number : 111 Question Id : 87827041321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The social worker in correctional setting needs to posses the following additional qualities :
(A) Interests of the delinquent
(B

(C) Knowledge of delinquent and criminal behaviors

——

Impluence the decision of dEL'anuent

(D) Skills in identifying social and pathological factors

(E)  Attitude of acceptance of criminal behavior and readiness to work experimentally
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

@ () () and (D) Only
3 O
(

’_._‘-,-—\‘.-._\_

3) (C), (D) and (E) Only
4 (B), (D) and (E) Only

—

Options:

878270162281. 1
878270162282. 2
878270162283. 3
878270162284. 4

Question Number : 111 Question Id : 87827041321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

QuRTe fo=me (Bféma) § grnfores el § fre arfafem o oft em =nfew
(A) e % fed

(B) ARl % MR I guford A I ek

(C) #T=R (TR Feer) il IH

(D) HHIfSre 9 AR eI o Tea H Fl HIve

() ST SRR #) Wit 3 Wi w9 § 7 w0 3 i ) e
1) fow T e & WA I 0 T

(1) % (A), (B) 3R (C)

(2) A (B), (C) (D)

(3) % (C), (D) 3 (E)

(4) % (B), (D) 4R (E)



Options :

878270162281. 1
878270162282. 2
878270162283. 3

878270162284. 4

Question Number : 112 Question Id : 87827041322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are supported by Queer theory ?
(A) All sexual categories are not open and they are fixed in nature.

(B) The polarised splits between both the hetero-sexual and the homosexual and the sex and
gender are challenged.

(C) Advocates that non-hetero-sexual voices need to be heard.
(D) Identity a sense of who one is - is no longer seen as stable or fixed.
(E)  Only heteronomativity is normal and natural.

Choose the correct answer from the options given below :

(I) (B), (D) and (E) Only

(2) (A), (B) and (E) Only

(3) (A)and (E) Only

(4) (B), (C) and (D) Only

Options:

878270162285. 1

878270162286. 2

878270162287. 3

878270162288. 4

Question Number : 112 Question Id : 87827041322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R 2 e & 3 o ol o e e 2

(A) ot oHfier Afor ged el & & o e g e B

(B) fermfeirh o wafeit < fefm (Wam) & Sfet % ot % vt faarrl =1 g3 < 7 8|
() -Fomfer =R 9 3 R i et o 3

(D) 38 A 1 Ve FA-feh h 0 € - o7l Feem v o 3 9 T < e B
(E) el forem AT & S 3 Teeifo ¢ |

1 fou U fomedl o § W@ SR F T Fo ;

(1) ¥ (B), (D) 3 (E)
(2) % (A), (B) M (E)
(3) A (A) IR (E)
(4) ¥ (B), (C) R (D)

e

Options:

878270162285. 1
878270162286. 2
878270162287.3

878270162288. 4

Question Number : 113 Question Id : 87827041323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which are Child Rights related historic milestones ?

(A) UNICEF began its work in India in 1949

(B) India ratified UNCRC in 1993

(C) UNCRC was unanimously adopted by the UN General Assembly in 1989
(D) The Protection of Children from Sexual Offences Act, was passed in 2010
(E) India formulated its first “National Policy for Children” in 1974

Choose the correct answer from the options given below :

1) (A), (B) and (C) Only

(B), (C) and (D) Only

(A), (C) and (E) Only
(A)

(1)
(2)
(3)
(4) (A), (B), (C) and (D) Only



Options :

878270162289. 1
878270162290. 2
878270162291. 3

878270162292. 4

Question Number : 113 Question Id : 87827041323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o SRl § Haf Ufaefas Syefem #9 @ €7

(A) IEE A 1949 F TG ¥ 3701 SR forn |

(B) URA A 1993 W J W HI S I 1 ATHweA foRan|

(C) o A I 3 1 1 H9 U Herw9l o 1989 H Woiaw{d ¥ flehr fera |
(D) ifTeR STqUEl | aTereRl o1 T STEn 2010 § WG gan |
(E) A A 1974 ¥ 39 Tgelt ' UL el HAifd " IR |

e feu U fowedi ® € WE S F 994 S

(1) A (A), (B) 3 (C)

2) %A (B), (C) ¥R (D)

3) A (A), (C) M (E)

4) A (A), (), () 3 (D)

Options:

(
(
(

878270162289. 1
878270162290. 2
878270162291. 3

878270162292. 4

Question Number : 114 Question Id : 87827041324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following are duties of probation officer as stated in the | ] Act and rules ?
A)  Prepare Social Investigation Report

B) Prepare Care Plans

(
(
(C)  Avoid being friend and confidante to the juvenile and child and be strict to gather the facts
(D) Facilitate group counseling

(

E) Network with voluntary workers and organisations to facilitate rehabilitation and social

integration of the juveniles or children

Choose the correct answer from the optinns giwen below :

(1) (A) (), (C) and (E) Orly

(2 (B), (C), (D) and (E) Only
(3) (A), (B), (D) and (E) Only
(4) (A), (B) and (C) Only
Options :

878270162293. 1
878270162294. 2
878270162295. 3

878270162296. 4

Question Number : 114 Question Id : 87827041324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) mﬁmmwﬁ%ﬁwm

(B) @I (F%) ASH TR F

() mawmmﬁﬂawaﬂﬁqﬁwaawmwﬁwﬁm

(D) TR A R

(E) TR S1orll aTct- sfcrer1afl o ol d STHIToh Tehiehayl o Geh T of fefU il el &
T F 79 qeafdn

7 feu T foeredi § B W S T

(1) % (A), (B) (C) N (E)

() @ (B), (C), (D) & (E)

() @ (A), (B), (D) 4 (E)

(&) @ (A), (B) & (C)

Options :

D)

B) 3l (C

B),
)
878270162293. 1
878270162294, 2
878270162295. 3

878270162296. 4

Question Number : 115 Question Id : 87827041325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The child’s rights adopted in the United Nations Convention on the Rights of child (UNCRC)
are :
(A) Right to Nutrition
(B) Right to Survival
(C) Right to Protection
(D) Right to Participation
(E) Right ot Recreation
Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only
2) (B), (C) and (D) Only
) (C), (D) and (E) Only
) (B), (D) and (E) Only

Options:

(
(
(4

—

878270162297. 1
878270162298. 2
878270162299. 3
878270162300. 4

Question Number : 115 Question Id : 87827041325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T T a1 AR e (3 T R ) § e awhl & AR €
(A) OO 3 SR

(B) SCSHToR 1 SR

(C) e 1 AfeER

D)WWl 1 ¥R

(E) 3THIG-THIS & AfHFR

4 fou o fasedi # 9 | 0 1 99 i

1) a (A), (B) 3R (C)
(2) %A (B), (C) 3 (D)
() ¥ (O), (D) 3R (E)
(4) e (B), (D) 4R (E)

Options:

a—

—

878270162297. 1
878270162298. 2
878270162299. 3

878270162300. 4

Question Number : 116 Question Id : 87827041326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Model Orientation toward helps
(A) Medical model (I)  Individual is considered responsible neither for the
problem nor for its solutions
(B) Compensatory model (I) Individual is held responsible for the problem, not
for its solution
(C) Enligtment model () Individual is not to blame for the problem but holds
responsible for its solution
(D) Moral model (IV) It hold individuals responsible for both the problem

and its solution

Choose the correct answer from the options giuen below :

(1) (A}L), (BRL), (OI), D)-V)

(&) (A, (B}, (CH(), (D-IV)
() (AHD, (B]V), (CHI, DK()
(4)  (AHLV), (BIIL), (CHID, (O)-()

Options :

878270162301. 1
878270162302. 2
878270162303. 3

878270162304. 4

Question Number : 116 Question Id : 87827041326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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G e i fegm

(A) fofredm wrea (1) ATeRT 1 1 A f e, et A el , R A &
T4k T o feru

(B) Ty HEd (1) R 0 e o fof e Wi < & e e
HYA o fort 7|

(C) YalleH W (Tesee) (L) 2T S e 21 T e el 0 30k e
R i o e s i e

(D) e wea (IV) 7% 4T 1 e of 3 T, SR % fer e
T & |

Al few T foeredl § ¥ e SR o 7 I

() (AHD), (B}, (CHI), (DIIV)

(@) (AJD), (B}(), (CHI), (D)-V)

() (A)-0), B}IV), C(I), O}

(4)  (AHIV), (B)-(I), (C)-{II), (D)-(1)
Options :

878270162301. 1
878270162302. 2
878270162303. 3
878270162304. 4

Question Number : 117 Question Id : 87827041327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - 1 List - II

Sociologist Thoughts
(A) Pierre Bourdier () Collective moral beliefs
(B) Roy Bhaskar (IT)  Structuration theory
(C) Anthony Giddens (L) Reflexive Sociology
(D) Durkieim (IV) Critical realism

Choose the correct answer from the options giv en below :

(1) (A)-(), (BHIV), (O-ID), (D)-0)

(2)  (AIV), (B)-(II), (CHID), (D)-I)
(3) (A1), B)-0), (O)-(I), (D)-(IV)
@) (A0, (B)-(I), (O)-(1V), (D)-(II)
Options :

878270162305. 1
878270162306. 2
878270162307. 3

878270162308. 4

Question Number : 117 Question Id : 87827041327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt - 1 % 919 Gt - 11 1 ferm e
Tl -1 Tl - I

TSI ferem

(A) T arfes (I) wmfes Afar fawm
(B) A W (I) HEAHRY (L) fagi
(C) T fireg (1) sear (ftfra)
(D) g@m (IV) ST FLag
A feu Tu fomredi H 9 WE SR I T4 1T ;

1) (A) {IH) (BHIV), (O+(1D), (D)-()

(2)  (AMIV), (B)«II), (O)-(ID), (D)-(0)

(3)  (AHID, (B)-(), (OIM), (D)-IV)

(4) (A, (B)-0), (OH1V), (D)-(IM)
Options :

878270162305. 1
878270162306. 2
878270162307. 3
878270162308. 4

Question Number : 118 Question Id : 87827041328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - L.
List -1 List-1I
(A) Task groups (I)  Collective action and planned change efforts to alter
social or physical environment

(B) Sociolization Groups (I) - Used to find solutions to organisational problems, to
generate new ideas

(C) Social Action Group () Helpmembers learn social skills and socially accepted
behaviour pattems

(D) Therapy Groups (IV) Help members change behaviour to cope with

personal problems
Choose the correct answer from the options given below :
(1) (A}, (B-(V), (C)-{T), (DHII)
2)  (AJ{I), (BJIV), (CH(), (D}(I)

o O
() (A-0, BH), ©-)), OHI)
(@) (AHIV), (BI{L), (©)-{T), D)-{)
Options:

8782701623009. 1
878270162310. 2
878270162311. 3

878270162312. 4

Question Number : 118 Question Id : 87827041328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) FH-TE () s o shf s A aee # fou o
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(B) TSR HE () el qrenEl % fo Tem T dR T TR T
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(C) i i Wy () e 1 o B 4R g & § wigd
SRR F T W H HeE F ¢

(D) fafeed (IV) e 1 e T H A A g §
o o g 7 €

e feu T foeredt o ¥ W SO T F

(1) (AL, B)-(V), (C-{1), (D)

() (A1), (B)-{V), (CHI). (DK

() (A, B)-(L), ©-(0), (O)-(IV)

(4)  (AHIV), (B, (CH), (D)-()

Options:

8782701623009. 1
878270162310. 2
878270162311. 3

878270162312. 4

Question Number : 119 Question Id : 87827041329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List-1I
(A) M.G. Ross (I)  Community Welfare Organization
(B) Aurther Dunham (I) Community Organization : Theory Principles and
Practice
(C) Paulo Freire () Social Planning and Community Organization :
Community, Development
(D) S. K Khinduka (IV) Pedagogy of the Oppressed

Choose the correct answer from the options given below :
(1) (AHD), BRI, (CHII), [D)-(1V)

) (AHI, B, (CH1V), (DHII)
(3)  (AJ(L), (BHIV), (CHI), (D}-(I)
(&) (AHID), B)-0V), (C-D), (D)
Options:

878270162313. 1
878270162314. 2
878270162315. 3

878270162316. 4

Question Number : 119 Question Id : 87827041329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A, (B)-{I), (CHII), (DIV)

(@ (AHI), (B-{), (CHIV), (DHII)

(3) (A, (BIHIV), (CHI), (DHm)

() (AHI), (B)-V), (CD) (D)

Options:

878270162313. 1
878270162314. 2
878270162315. 3

878270162316. 4

Question Number : 120 Question Id : 87827041330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List-1I
Research Terminologies Explanation
(A) Paradigm () Rejects the nation of an objective social reality
(B) Positivism (Il) Emphasizes multiple subjective realities and the

impossibility of being completely objective
(C) Social Constructivism () Emphasizes the pursuit of objectivity in quest to
observe and understand social reality

(D) Postmodernism (IV) A fundamental frame of reference that shapes our
observations and understanding

Choose the correct answer from the options giuen below :

(1) (AW, (BHIV), (OHD), DHD

@ (AMIV), (BHII), (K1, (DA
B (AM1), (B, (OH, (DH1Y)
@) (AR, (BH, (1Y), (K1)

Options :

878270162317. 1
878270162318. 2
878270162319. 3

878270162320. 4

Question Number : 120 Question Id : 87827041330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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TR Wregraet e

(A) e () T e ST 39 2 Foha 2

(B) fsfefer () () % e Fee WS 3 € o o A A
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4 fou U foeredl # B W@ TR 9 H

(1) (AT, (B)-{V), (CH). (DK

(@) (AHIV), (B)-(IW), (CHI, (D)-()

() (AHD), (BR(L), (OHIm), (D)-(IV)

(4) (A1, B)-(), (CHIV), (DA

Options:

878270162317. 1
878270162318. 2
878270162319. 3

878270162320. 4

Question Number : 121 Question Id : 87827041331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Research Concept Related Research Question
(A) Positivism () Does the new policy really help the poor or does it
keep them oppressed ?
(B) Interpretivism (II) What impact does the new policy have on poor
women ?
(C) Critical Approach () Is the new policy effective in reducing poverty ?
(D) Feminist Approach (IV) How do welfare recipients experience their lives

changing under the new policy ?
Choose the correct answer from the options given below :
(1) (A{L), (B)-(L), (C(I), (D)-(IV)
(@ (AHI), B)-0), (CHI), [D)-1v)
(3) (A}, (BHIV), (CH), (D}(I)
() (AHIV), (B)I), (O-1), D)
Options :
878270162321. 1
878270162322. 2
878270162323. 3

878270162324. 4

Question Number : 121 Question Id : 87827041331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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o T A S S 7

7 feu T foered # | W SO T e

(1) (A, (B)-{I), (CHII), (D-IV)

() (AHI), (B-{1), (CHII), (D)-V)

(3) (A, (BIHIV), (CHI) (DHm)

() (AHIV), (B)-(), (CHI) (DHI)

Options:

878270162321. 1
878270162322. 2
878270162323. 3
878270162324. 4

Question Number : 122 Question Id : 87827041332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II

Propounder Concept
(A) Durkheim (I)  Order and Pluralist Theories
(B) Marx (II) Functionalism
(C) George and Wilding (IIT) Anti-thesis of welfare society
(D) Parson (IV) Modem functionalist

Choose the correct answer from the options given below :

(1) (AD, (BRI, (C)-(m), (D)-(IV)
(2)  (A)(ID), (B)-(I), ©)-(1), (D)-(IV)
(3)  (A)-{I), (B)ID), (C)-(V), (D)-(I)
(4)  (A)-(IV), (B)-(D), (L), (D))
Options :

878270162325. 1
878270162326. 2
878270162327. 3

878270162328. 4

Question Number : 122 Question Id : 87827041332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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et - 1 et - 1

aferemaes LT
(A) TEM (I) et 9 wgfag fagia
(B) T (1) YwMEaR
(C) i 9 HifeeT (1) foRie o FeammERRT T
(D) A (IV) 3TYF Jeprdarst

A fou o fepredl § § W& I H =7 HIC
(1) (AI), (B)-(IT), (C)-(IL), (D)-(IV)
(2)  (A)-D, (B)-(II), (C)-(I), (D)-(V)
(3) (A, (B)-(ID), (O-IV), (D)-(I)
(@) (AHIV), (B)HD), (C)-(ID), (D))
Options :

878270162325. 1

878270162326. 2

878270162327. 3

878270162328. 4

Question Number : 123 Question Id : 87827041333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - I List - II
Position Persons

(A) Father of Human Rights (I)  Sh Igbal Singh Lalpura
in India

(B) Chair person, National (Iy Sh Priyank Kanoongo
Human Rights commission

(©) Chairperson, National (I) Justice P N Bhagwati
Commission for Minortities

(D) Chair person, National (IV) Justice A K Misra
Commission for Protection of
Child Right

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IIT), (C)«(ID), (D)-(0)

2) (A1), B)-D), (©O)-@V), (D)-(I)

(3)  (A)(I), (BHIV), (OHD), (D)-(I)

4)  (A)-(D), (B)-(IT), (O)-(IID), (D)-(IV)

Options:

878270162329. 1

878270162330. 2

878270162331. 3

878270162332. 4

Question Number : 123 Question Id : 87827041333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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= feu mu faspredi § © W SO F =TI FifeU

(1) (A)LV), (B)(ILL), (Q)-(II), (D)-(T)
(2) (A1), (B)-(D), (C)-IV), (D)-(0)
(3) (A)-(II), (B)-(IV), (O)-(D), (D)}-(ID)
@) (A)-(0), (B)(1), (O-(1), (D)-(IV)
Options :

878270162329. 1

878270162330. 2

878270162331. 3

878270162332. 4

Question Number : 124 Question Id : 87827041334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Legislation Year
(A) Indian Penal Code () 1897
(B) Indian Evidence Act (Iy 1894
(C) Prisons Act (IIr) 1872
(D) Reformatory School Act (IV) 1860

Choose the correct answer from the options giv en below :

(1) (A1), (B)-(1D), (O-(IV), (D)-(1)

(2)  (A)(IV), (B)(IIL), (C)~(1D), (D)-(I)
(3)  (A)-(I), (B)-(IV), (C)-(11), (D)-(T)
(4) (A)-(ID), (B)-(IV), (CO)-(L), (D)-(11)
Options :

878270162333. 1
878270162334. 2
878270162335. 3

878270162336. 4

Question Number : 124 Question Id : 87827041334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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faer= EL
(A) Efema 9 e #re () 1897
(B) 3fedd zdreq wER (I) 1894
(C) T TR (1) 1872
(D) TEHET @hed uae (IV) 1860

= feu 7o foredi § | W& I 1 = ST
() (A1, (B)-(I11), (©)-(IV), (D)-(I)

(2)  (A)-(IV), (B)-(II), (O)-(ID), (D)-(T)

(3) (A, (B)-(1V), (O-(1L), (D)-(D)

(4) (A1, (B)-(1V), (O)-(D), (D)-(I)

Options :

878270162333. 1

878270162334. 2

878270162335. 3

878270162336. 4

Question Number : 125 Question Id : 87827041335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Legislation Year
(A) Persons with Disability Act (I) 1997
(B) Mental Health Act (I 1992

(C) Rehabilitation Council of India Act (If) 1995
(D) National Trust for Welfare of Persons (IV) 1999
with Autism, Cerebral Palsy, Mental

Retardation and Mulliple Disabi]_ity Act

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(II), (C)~(I), (D)-(IV)

(2)  (A)-(II), (B)-(I), (O)-(ID), (D)-(IV)

(3)  (A)-(I), (B)-(I11), (CO)-(I), (D)-(IV)

4) (A)-(IV), (B)-(II), (O)-(11D), (D)-(T)

Options :

878270162337. 1

878270162338. 2

878270162339. 3

878270162340. 4

Question Number : 125 Question Id : 87827041335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T - 1 F 91 gt - 11 1 foer =i

Tl - 1 - 11
faer= Y
(A) v fag feafaferel wwe () 1997
(B) THZel 5oY TR (I) 1992
() Tefafaeys wEfa s fea (I) 1995
(D) 9Fd 2% R AR HE THH (IV) 1999
UE Aoy fedfafae]

= Teu U fashedi # € Wal SO ol 999 ST

(1) (A)-D, (B)-(I), (O, (D)-AV)
() (A)I), (B)-1), (O-(I), (D)-AV

) ) )
(3)  (A)-(1D), (B)-(IL), (C)-(1), (D)-(IV)
(4) (A)-(1V), (B)-(ID), (O)-(I1D), (D)-(I)
Options:

878270162337. 1

878270162338. 2

878270162339. 3

878270162340. 4

Question Number : 126 Question Id : 87827041336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following phrases/concepts in ascending order of their prevalence in social work,
(A) Pauperism not poverty is the problem

(B) People and their environment

(C) Person in situation gestalt

(D) People and their structural issues

Choose the correct answer from the options given below :

() (), ©, (@) D)

@ (© (4), (D) B)
3 ®) () D) (4
(@A) ®) (), D)

Options:

878270162341. 1
878270162342. 2
878270162343. 3

878270162344. 4

Question Number : 126 Question Id : 87827041336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fretfefee el arerel #1 QU FH H ST TOeH & ST 0 § Sqaed Hi |
(A) TReen R aAfe exfefarmen (moftem)

(B) N T ST Yed

(C) T ferf W =afem

(D) TN T 37k G

A fo T foeredl  § W& S A A HIC ;

(1) (A) @€, (B)ﬁ (D)

Options :

878270162341. 1



878270162342. 2
878270162343. 3

878270162344. 4

Question Number : 127 Question Id : 87827041337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following reform movements in correct ascending order :
(A) Satya Shodhak Samaj

(B) Brahmo Samaj

(C) Prarthana Samaj

(D) Ramkrishna Mission

Choose the correct answer from the options given below :

(1) (A), (B), (O (D)

2) ((A), (©), (B), (D)
3) (B), (4), (D), ©
4 (B), (A), (C), (D)
Options :

878270162345. 1
878270162346. 2
878270162347. 3

878270162348. 4

Question Number : 127 Question Id : 87827041337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfiga o sticieri =l el Sl %0 H =afeed Hifs
(A) FINYR A

(B) &N WA
(C) Sl gt
(D) THFW THIH

=1 fou 7o fawedi § 9 W& SO 1 F94 FHife
(1) (A), (B), (C), (D)
(2) (A) (©), (B), (D)
(3) (B), (A), (D), Q)
4) (B), (A), (O, (D)
Options:
878270162345. 1
878270162346. 2
878270162347. 3

878270162348. 4

Question Number : 128 Question Id : 87827041338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the stages of formation of social movements.
(A) The formalisation stage

(B) The popular stage

(C) The Dissolution stage

(D) The unrest stage

(E) The stage of Institutionalisation

Choose the correct answer from the options given below :
(1) (), ©), (B), (A), (D)

(2) (A), (D), (B), (Q), (E)

(3) (D), (B), (A), (E), (O)

(4) (D), (A), (E), (B), (C)

Options :

878270162349. 1



878270162350. 2
878270162351. 3

878270162352. 4

Question Number : 128 Question Id : 87827041338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

QiR ATRTE < faior 7 sTereansdl =1 =afed e ;

(A)  FIETR RT3
(B) ATRMIT-feaeeq

(C) Torsrea-sareen

(D) M- 3Taee

(E) HEAHIRTIT Rl STereel

A feu g ferredi W § W& IO o =9 T
(1) (E), () (B), (A), (D)

2) (@A), (D), (B), (C) (E)

(3) (D) (B), (A), (E), (C)

(4) (D) (A), (), (B) (C)

Options :

878270162349. 1

878270162350. 2

878270162351. 3

878270162352. 4

Question Number : 129 Question Id : 87827041339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Accordjng to Douglas there are five stages of social group work. Which is the correct sequence of
stages by Douglas ?

A) Creation
B) Operation

(

(

(C) Conceptualization
(D) Termination

(

Evaluation

Choose the correct answer fl'om the opliuns gi\f en below :

(1) () (), ®) )
@ © )06
() (A) () C
( (A) (

)
)
9 Q) (A) )

) ()
Options:

878270162353. 1
878270162354. 2
878270162355. 3

878270162356. 4

Question Number : 129 Question Id : 87827041339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STCTY 3 S ITorer W feeh e o1 Wil STeee 2 €1 e g o 7§ enel o W e
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1) (A),© @) O) &
2 (©(A) ®B) D) E
(
(

£3) (A), (B), ((C-); EE): y
@ © &), ) 6) D)
Options :
878270162353. 1
878270162354. 2
878270162355. 3

878270162356. 4

Question Number : 130 Question Id : 87827041340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the sequence of practice of community work according to their correct stages.
(A) Identification of the needs

(B) Enlisting people’s participation

©

(D)

(E) Programme implementation

Resource mobilization

Programme plalmjng

Choose the correct answer from the options given below :
(1) (A) (B), (©), D) (E)
(2)

(9) (
4 (A)(



Options :

878270162357. 1
878270162358. 2
878270162359. 3
878270162360. 4

Question Number : 130 Question Id : 87827041340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
IR a Fd aH % STTHY bl ST Tel ST % YR AT HIWT ;
(A) 3TEvER H TEATH
(B) T &l IR 1 SFCHH LA

(C) A e
(D) A 1 S T
(E) FH fHarae
w1 feu o foskedl § 9 W SR 1 999 HIf ;
(1) (A), (B), (©), (D) (E)
(2) (B, (D) (©), (B), (A)
(3) (©), (D) (A), (B) (E)
4) (A) (©), () (E), (D)
Options:

878270162357. 1
878270162358. 2
878270162359. 3
878270162360. 4

Question Number : 131 Question Id : 87827041341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following concepts in the correct sequential order of undertaking a research study :
(A) Realism

(B) Positivism

(C) Objectivism

(D) Quantitative approach

(E) Quasi-experimental design

Choose the correct answer from the options given below :

(), (), ©, (D)

(8), (C), (A), (E), ©)
(A), (), (B), D) ()
(), (C), () (D), ()

()
@
)
4
Options:

878270162361. 1
878270162362. 2
878270162363. 3

878270162364. 4

Question Number : 131 Question Id : 87827041341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feiferfiad Sareqist ol el 9 s o 3T o Hel SiH H SHafed FIf ;
(A) Teefare

B) WG

Q) fawfreer

D) HHEE 3T

E) -t siferey

%mwﬁqﬁﬁ@ﬁmwwﬁm:

(A), (B), (©), (D), (E)

B), (C), (4), (E), (D

{ )
(A), (©), B), D), (E)
(), (©), (E), (D), (4)

(
(
(
(

—



Options :

878270162361. 1
878270162362. 2
878270162363. 3

878270162364. 4

Question Number : 132 Question Id : 87827041342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Arrange the proper sequence of the steps involved in formulation of the policy
Define the problem as a public issue
B) Legitimize Policy efforts through public support

(A)

(

(C) Prepare an initial policy statement that identifies goals

(D) Develop supportive organizational structures and political relationships
(E)

Provide the information to the public

Choose the correct answer from the np[inns given below :

(1) (4), (B), (©), (D) (E)

(2 (A), (©), D), (E) (B)
(3) (A) (D). E), (B), (C)
(4) (A), (B), ©), D) (B)
Options:

878270162365. 1
878270162366. 2
878270162367. 3

878270162368. 4

Question Number : 132 Question Id : 87827041342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) WrESTE W & &9 H e 6l G w5

(B) @l TmeA & meam ¥ Hifa st yardi @ dywy <

(C) <&l 1 Te=M A et SR Hifd SeFded Ta FE1

(D) WEM® GUSACHE HlaAIel SR UsHIfqe FaHl &1 foskfaa e
(B) SIel %1 YT 3YcTe Ml

T feu 7o femredi § 9 We 39 & 9949 Ffe

(1) (A), (B), (©), D) (E)
2 (A), (©), D), (E), (B

{3; (A), (D), (B), (B), {C;
@) (A) (B), ©), D) (B)
Options:

878270162365. 1
878270162366. 2
878270162367. 3

878270162368. 4

Question Number : 133 Question Id : 87827041343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the core United Nations Human Right Conventions in ascendmg order with reference to
the year of approval :

(A) International convenant on Civil and Political Rights
(B) Convention on the Elimination of all forms of Discrimination against Women

(C) Convention against Torture and Other Cruel, Inhuman and Degrading Treatment or
Punishment

(D) International Convenent on Rights of the Child
(E) Convention on the Rights of Persons with Disabilities

Choose the correct answer from the optinns given below :

) (A) (O B) ®
) (0),(®) (4) 0) ¢

( ( (
() (A), (D) B) ()
@ @A) )
Options:
878270162369. 1
878270162370. 2
878270162371. 3
878270162372. 4

Question Number : 133 Question Id : 87827041343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e o % ey H TRy T T u e T @SR W St
(A) ST MG SR Teiaes dadl Fafe (Ffe)
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(C) I A ke, SAAITald N YU e 71§l o fawg Feer

(D) @ aHfiren & Gy ¥ s i (HHe)

) oo & s 35 e 4 weiem
A fou o fomed) 9 WE I 1 T Fo
(1) (A) (©), D), (B) (E)

(@) (©) (B) (A), D) ()

() (A) D) B), (©) ()

(4 (4)8), ©), D) E

Options:

878270162369. 1
878270162370. 2
878270162371. 3

878270162372. 4

Question Number : 134 Question Id : 87827041344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

There are various authorities set up as a part of dispute settlement machjnery under Industrial
Dispute Act. Arrange in ascendjng order

(A) Works Committee/Grievance Redressal Committee
(B) Conciliation Officer

(C) Board of Conciliation

(D) Arbitration

(E) Labour Court/Industrial/ National Tribunal

Choose the correct answer from the options given below :
(1) (A), (), D), (©) (E

@ (A), (B) ) D) (E)
() ®) (©) (A) D) (E
(@) (), (C), (A) E) D)

)
) (4),

!



Options :

878270162373. 1
878270162374. 2
878270162375. 3

878270162376. 4

Question Number : 134 Question Id : 87827041344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Srenfirr foee erfufm & oq foram Toner o3 3 om % w9 § fofv whron @ ve fon €
! G W W e e

7 fou o fomredl o B W W TH Fi0
1) (A)(B), D) (©) (E
(A), (B), (©),

(B)
(

v
2
3 () ()
@ )

) (D), (E)
©) (&), D) (E)
©) (4), ), ©)
Options:
878270162373. 1
878270162374. 2
878270162375. 3

878270162376. 4

Question Number : 135 Question Id : 87827041345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the following Policy/Act related to children in as per their year of introduction :
(A) The Protection of Children from Sexual Offences

(B) The first National Policy for Children

(C) The Prohibition of Child Marriage Act

(D) National Policy on Child Labour

Choose the correct answer from the options given below :

1) (A),®) (© D

@ ®)(© D) @A)

3 ®) D) © @A)

(4) ©, D) A) @)

Options :

(
(
(

878270162377. 1
878270162378. 2
878270162379. 3

878270162380. 4

Question Number : 135 Question Id : 87827041345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

WG H aedl § Graifea Ao/ Sy 3T [ o & SER Safd Hi ;

(A) I S0 ¥ o

(B) W™ T & Hifd

(C) e forame yleey arferfam

(D) = &I 99 Hifd

A feu U fomred] 7 | W& SRR 1 T I

(L) (&), ®), (C) D)

(2)  B), (C) D) (4)
(3) B), (D) (©, (4)
4 (©, (D) (A) B)

Options :



878270162377. 1
878270162378. 2
878270162379. 3

878270162380. 4

Question Number : 136 Question Id : 87827041346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : People belonging to different social groups share differences and similarities,
cutting across the boundaries of their groups.

Statement (II) : Every social difference does not lead to social division.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are true
2)  Both Statement I and Statement I are false
3

4) Statement I is false but Statement II is true

(
(3)  Statement I is true but Statement II is false
(

Options :

878270162381. 1

878270162382. 2

878270162383. 3

878270162384. 4

Question Number : 136 Question Id : 87827041346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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IR F & ATcieR W, Aol fou 70 foeredl o W e SR 1 < i

(1) R (1) SR (1) SF e ¢

() R (1) S H (1) T o £

(3) R (1) T &, T ®e (1I) 99 &

(4) R (I) 9 &, AR o (1) §A ¢

Options :

878270162381. 1

878270162382. 2

878270162383. 3

878270162384. 4

Question Number : 137 Question Id : 87827041347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Social Structures consist of unequally advantaged groups.

Reason (R):  Inequality results from the domination and exploitation embedded in the structure
of society.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270162385. 1



878270162386. 2
878270162387. 3

878270162388. 4

Question Number : 137 Question Id : 87827041347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T 3 FoR UM O AR (Assertion A) % 9 ¥ feifa € o G 35 AU (Reason R)
FE Y
HHT (A) :  TIVIISTH O ¥ P /e T8 7 ot 9 2 ¢ |
T (R): o S W Tt Y AR i o v SR A 8|
IR F9 F e W, A fqu o fosedl § 8 e SR o T i
(1) (A) 3R (R) S W61 € SR (R), (A) F 91 e §
(2) (A) 3 (R) < 5 & SR (R), (A) F TR oA T
(3) (A) % & @A (R) T @
(4) (A) e I & ol (R) 71 &
Options :
878270162385. 1
878270162386. 2
878270162387. 3
878270162388. 4

Question Number : 138 Question Id : 87827041348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : Self-help should be the means to individual fulfilment.
Reason (R):  Case work focus on individual’s development.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270162389. 1

878270162390. 2

878270162391. 3

878270162392. 4

Question Number : 138 Question Id : 87827041348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 Q FR U U E ;v AW (Assertion A) F ¥ ¥ feifed € ol T 0F FWON (Reason R)
& T H

HTWeRe (A) : - I ARSI 1 HEH & e |
T (R): AT F A A R T 2

I TR F AT 5, 7 fou 0 fowed § @ W I 9
1) (A) 3R (R) T W € 3R (R), (A) F T =@ &

D) (A) 4R (R) S W € AR (R), (A) 308 RN &

3) (A) R & oA (R) §E &

4)  (A) T ¢ olfe (R) W1 €

Options :

(
(
(
(

878270162389. 1
878270162390. 2



878270162391. 3

878270162392. 4

Question Number : 139 Question Id : 87827041349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The Community worker may or may not have the socio-economic background as
the community he/she may work with.

Reason (R):  The Community worker's world view on an many issues may greatly vary from
ideas and practices of people he/she work with.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270162393. 1

878270162394. 2

878270162395. 3

878270162396. 4

Question Number : 139 Question Id : 87827041349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(4) (A) % T Tl (R) W €

Options:

878270162393. 1
878270162394. 2
878270162395. 3

878270162396. 4

Question Number : 140 Question Id : 87827041350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The Principles of social planning are like a set of guidelines that help people create
policies and programs.

Statement (II) : The guidelines make sure that everyone is treated fairly, and that people who
might be left out of the decision making are heard.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(



Options :

878270162397. 1
878270162398. 2
878270162399. 3

878270162400. 4

Question Number : 140 Question Id : 87827041350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162397. 1

878270162398. 2

878270162399. 3

878270162400. 4
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Question Id : 87827041351 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the Passage and answer the following questions.

Human Capital and Social Capital can complement each other or they can destroy each other
Social Capital as a concept can help the actors to realise the importance and usefulness of those aspects
of Social structure which will help them to achieve their interests. Human capital is created by shaping
the individuals by giving them skills and capabilities that gives them power to act in innovative ways to
produce. Social Capital is created by shaping relations between individual to facilitate action. A group
where members trust each other will act better than the one where there is no trust. The importance of
Social Capital has been exhibited by the acceptance of team development efforts by the corporation. In
cohisive groups where members are willing to help each other and abide by the group norms, the level of
trustworthiness of the group environment is a crucial factor in the success of the group. Itmeans obligation
will be repaid. However, if obligations and expectations are not balance the Social Capital gets diluted
Norms and effective sanction can help in balancing obligations and expectations.

Sub questions

Question Number : 141 Question Id : 87827041352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How is human capital created ?

(1) By realising importance of social structure
(2) By using machines to increased productivity
(3) By shaping relations between individuals
(4) By shaping individuals with skills and capabilities
Options :

878270162401. 1

878270162402. 2

878270162403. 3

878270162404. 4

Question Number : 142 Question Id : 87827041353 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about Human Capital and Social Capital ?
(A) Human Capital and Social Capital are complementary in nature.

(B) Social Capital helps actors to realise the importance and usefulness of social structure.
(C) The level of trustworthiness is inversely related to serial capital

(D) Imbalance in obligation and expectations dilutes social capital.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
() (), (8 and (D) Only
4 (A), (C) and (D) Only
Options :
878270162405. 1
878270162406. 2
878270162407. 3

878270162408. 4

Question Number : 143 Question Id : 87827041354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is true about Social Capital ?

(1) Social Capital is created by shaping relations between ndividuals to facilitate action
(2)  Social Capital works better in groups with no trust

(3)  Social Capital gives individuals power to act in innovative ways

(4)  Social Capital ends up in training the individuals with skills.

Options :

878270162409. 1

878270162410. 2

878270162411. 3

878270162412. 4



Question Number : 144 Question Id : 87827041355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  The importance of Social Capital in team development efforts still awaits
acceptance by the Corporations.

Statement (II) : Norms and effective sanction negate the balancing between obligations and
expectations.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options :

878270162413. 1

878270162414. 2

878270162415. 3

878270162416. 4

Question Number : 145 Question Id : 87827041356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Human Capital and Social Capital can complement each other.
Statement (II) : Human Capital and Social Capital can distroy each other.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270162417. 1

878270162418. 2

878270162419. 3

878270162420. 4

Question Id : 87827041351 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Question Number : 141 Question Id : 87827041352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e Ut R g w8 T 22
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(4) A 3R GWed o WY Afdddl 1 FIA TR
Options :
878270162401. 1
878270162402. 2
878270162403. 3

878270162404. 4

Question Number : 142 Question Id : 87827041353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270162405. 1
878270162406. 2
878270162407. 3

878270162408. 4

Question Number : 143 Question Id : 87827041354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

8782701624009. 1

878270162410. 2

878270162411. 3

878270162412. 4

Question Number : 144 Question Id : 87827041355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270162413. 1
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Question Number : 145 Question Id : 87827041356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 8782701730
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827041357 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the Passage and answer the following questions,

Civil liberties as guarnteed by the constitution of India imply the existence of an organised society
maintaining public order without which iberty itself would be lost in the excess of unrestrained abuses.
Unrestricted liberty becomes a licence and jeopardises the liberty of others. There cannot be any such
thing as absolute and uncontrolled liberty wholly freed from restraint, for that would lead to anarchy
and disorder. The possession and enjoyment of all rights are subject to such reasonable conditions as
may be deemed by the governing authority of the country essential to the safety, health, peace, general
order and morals of the community. In some cases restriction have to be placed upon free exercise of
individual rights to safeguard the interest of society. On the order hand, social control which exists for
public good has got to be restrained, lest it should be misused to the detriment of individual rights and
liberties

Sub questions

Question Number : 146 Question Id : 87827041358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the avowed objective of Civil liberties ?

(I) Complete and unrestrictive freedom to the individuals

(2) Exastence of an organised society maintaining public order
(3) Possession and enjoyment of all rights

(4) Social control for the public good

Options :



878270162421. 1
878270162422. 2
878270162423. 3

878270162424. 4

Question Number : 147 Question Id : 87827041359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the danger of unrestricted liberty ?

(1)  Unrestrained liberty infrig on the power of the state.

2)  Unrestrained liberty jeopardises the rights of citizens.

3)  Unrestrained liberty becomes a licence and jeopardises the liberty of others.
4)  Unrestained liberty lies at the very heart of right to liberty.

{
{
{
Options :

878270162425. 1
878270162426. 2
878270162427.3

878270162428. 4

Question Number : 148 Question Id : 87827041360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : There cannot be any such thing as absolute and uncontrolled liberty.
Statement (II) : The liberty wholly freed from restraint would lead to anarchy and disorder.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(



Options :

878270162429. 1
878270162430. 2
878270162431.3
878270162432. 4

Question Number : 149 Question Id : 87827041361 Question Type : MCQ Option Shuffling :
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about civil liberties ?

( Liberty freed from restrained would lead to anarchy and disorder

(B) Liberties are subject to reasonable condition

(C) Civil liberties imply existence of an organised society maintaining order.
(D) Liberty means free exercise of individual rights

(E)  Excers social control benefits individual rights and liberties

Choose the correct answer from the options given below :

(I) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (©), (D) and (E) Only
(4 (B), (D) and (E) Only
Options :

878270162433. 1
878270162434. 2
878270162435. 3

878270162436. 4

No

Question Number : 150 Question Id : 87827041362 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Restrictions have to be placed upon free exercise of individual rights.
Reason (R):  Civil liberties with restrictions are of no value for individual rights and liberties.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) s true but (R) is false

(4) (A)is false but (R) is true

Options:

878270162437. 1

878270162438. 2

878270162439. 3

878270162440. 4

Question Id : 87827041357 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Question Number : 146 Question Id : 87827041358 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162421. 1
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Question Number : 147 Question Id : 87827041359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270162425. 1
878270162426. 2
878270162427.3
878270162428. 4

Question Number : 148 Question Id : 87827041360 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 87827041362 Question Type : MCQ Option Shuffling : No
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